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| I- Read the following text then do the tasks

below:

The rainforest of the Amazon region of Brazil
in South America is home to at least 30 percent of
the world's animals and plants. The area is also
the home of 220,000 people from about 180
different tribes who live deep in the forest. The
rainforest itself is an important environment but,
because of its size and location, it alsoplays
a vital part in controlling the world's.climate.

Recently, however, large areas of the Amazon

rainforest have been cut down to make more land
for farmers. In the last three years, for example,
70,000 square kilometres have been destroyed.
Much of this destruction, which leaves the land
dry and dusty, is illegal.

Other areas of the rainforest are cleared by
ranchers, loggers, or oil companies. This helps to
improve the economy of the region, but at the
expense of the future of the global environment.

In addition to destroying ancient forests and
changing the world's climate, deforestation is
having a devastatmg effect on native populations
who are dependent on the rainforest for
everything they need, from food and tools to
medicines and shelter.

Answer the following questions: (15 marks)

1. Why are the rainforests being cut down ?

2. How does the destructlou of trees affect the

land oftheAmaz ' rainforest? ¢- a¥aid the Bk of theanackis

. Whatdoes the: ‘ ro @ %sW‘Wi srmally sleep rlesﬁéﬁ
e _ 1 eighPfours because they have .........

a- a lot of free time

¢- nothing to do

Find words in the text which mean the following:
(15 marks)

by desimcive
5. agatt:slﬂls.lw ”jﬁ‘.‘ﬁ*m '

II- Read the following text then do the tasks
below:

There is no day and night in space, so sleep is
simply planned for when it is most convenient.
Astronauts sleep in small compartments using
sleeping bags. They are loosely strapped into
| these so that they will not float out of them in
their sleep. Blindfolds and earplugs are also
available for the astronauts, who might find it
difficult to sleep with the noise from the
machines. Daily routines should allocate eight
hours for sleeping. Most of the time, however,
astronauts will normally sleep for around six, as
they often have so much work to do.

Another important part of spending any long
period in space is getting the right amount of
exercise so that the bones and muscles can stay
strong. On Earth human beings are always
moving against the force of gravity, with the
bones and muscles supporting the body. In-space
there is no gravity so the bones and muscles
weaken very quickly. In space, astronauts need to
do about two hours of exercise a day, using
exercise machines such as treadmills and
exercise bikes.

Choose the correct answer a, b or c:

(12 marks)
9. Astronauts use earplugs to ......... .
a- keep listening to each other
b- increase the noise of the maghines _,

b- a lot of work

R
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6.to make better

Rewrite these sentences about the text to correct
the information: (10 marks)

7. The rainforest of the Amazon region has

nothing to do with the world's climate.

Clearing the areas will be harmless to the global
environment .

11, the i ﬂ1af:' affrac%s abo’ﬁy tawardé“t?ﬁ_ﬂ
centre of the Earth.

12. a cloth that covers someone's eyes to prevent
them from seeing.

Complete the following sentences with informatiqn

from the text: (12 marks)

13. In order not to float out of their sleeping bags
during their sleep, astronauts .......... :

14. The bones and muscles of the astronauts would
become weak very quickly if they ..........ooovene. .
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in the gaps: (20 marks)
15. Syria is at ----- forefront of regional recycling

16. countries. Major recycling plants been built
17. in thie last few years in order to dispose sat‘ely}z-?--

® - A . |. !
18, substances such as plastics, batteries -+~- 6ther
waste materials. '

| 111- Complete the following paragraph by filling | VII- Complete the following sentences using

clauses: (14 marks)
32. I'm really tired this morning, S0 ......cceeeeeeee

33. The fire had started when ..............

IV- Fill in the spaces with wnrds'fmm the list.
Use each word once only: (25 marks)

found, through, experiments, damp,

their, elemenis
19. Together they made their in an old wooden

20. house that was too cold and for their health.
21. They knew that some ----- in the world gave off
22. a strange power that could go ----- other objects.

more of this power in some elements
than in others.

VIII- Choose the correct words in brackets:

; (20 marks)
#34. We should stop burning coal and oil (so that, in
| “order not to) cause more global warming.

35. Two (disaster, disastrous) potato crops led to
mass starvation in Ireland.

36. Are you good (at, for) maths ?

37. When my brother (came round, came up) after
his operation, he felt fine.

mV- Complete the following dialogue by erti-ng
saitable questions or answers. Write at least
three words for each question: (28 marks)

T T e e e e e o

IX- Correct the verbs in brackets: 20 marks)

38. Ali (study) law and history for four years.
39. In 1975 they (leave) England on an airplane.

40. Damascus (be) located in the south-west of
Syria.

41. Irish people emigrated because so many
(die) of starvation.

Maya: My school is near my house.
2RI i s N B

Maya: There are twenty five students in m&class.

na: What do you Iﬁ maost about your school?

X- Translation:
Translate the following sentence into Arabic:
(8 marks)

gl g plaa Y e e iy (Y G iy

(use causative verb)
1 29. Farmers produce many salad crops in the area
around the city of Al Ain.
(passive voice)
30. When did you first meet ?
(report using she asked them)
31. The weather is too hot at the moment.
(I wish ........)

(30 marks)

" A penius yvou know who deserves a national

award. "

END OF EXAM
b §1 o gai
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|- Groupl: 1-8
I1- Group 2: 9-23
[11- Group 3: 24 -33
V- Group 4. 34-43
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Group 1 From 1- 8
Model answers. (1-3)

1- To make more land for farmers / farming / agricigdtu
- In order to make / get / have / create more landiaioners / farming /
agriculture.
- In order to increase land for farmers / farmingrieulture
- (They are being cut down) to improve the economthefregion.
2- 1t/ The destruction of trees leaves the land diysty.
3- The rainforest / It provides the native populatianth everything
(they need) from food and tools to medicines aradtsh
- The rainforest / It provides them with everythitigefy need) from
food and tools to medicines and shelter.
- The rainforest / It provides them with everythitigefy need) .
- The rainforest / It provides them with foods / ®0l..... :
Remarksfrom (1-3)
(N.B): - Information between brackets is optional.
1- Each item from (1-3) is allottégimarks.
2- Overlook irrelevant information.
3- Overlook copying, spelling and grammar mistakes.

4- Any logical answer is accepted.
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Model answersfrom (4-6)
4- devastating / destroying

N.B.- 4. (destroyed / destruction) dedtnarks
5- illegal 6- improve

Remar ks from (4-6)

1- Each item from (4-6) is allottégimarks.

2- Only the above- mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the sai@mj consider the first.

Model answer s from (7-8)
7- It plays a vital / important / crucial part inrdrolling the world’s climate.

- It has some effects on the world’s climate.

- It affects the world’s climate.
8- Clearing the areas will be harmful to the gladdavironment.

- Clearing the areas will help to improve the econafthe region,

(but at the expense of the future of the globalrenwment).

Remarksfrom (7-8)

1- Each item is allotteB marks.

2- The above mentioned answers are accepted ihadth any logical answer.
3- Overlook copying, grammar and spelling mistakes.

4- If the student writes only the correction withoewriting the whole correct

sentence, his answer rates full mark.
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Group2 From 9-23

Model answers (9-10)

9- (c)/ avoid the noise of the machines

10- (b) / a lot of work

Remarks from (9-10)

1- Each item is allottel marks.

2- Either the letter or the complete answer is pigmkor both.
3- If thestudentwrites two answers to the same item, considefitste
4- Overlook copying mistakes.

Model answers (11-12)

11- gravity

12- blindfolds

Remarksfrom (11-12)

1- Each item is allottel marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- |If the studentwrites two answers to the same item, considefitsie

e —
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Model answers (13-14)
13-.......... are (loosely) strapped into these bag®/threm.

- are (loosely) strapped in small compartments usiegping bags.

N.B. - If the student doesn't wristrapped his answer rate$ marks
14-.......... didn’t exercise( for about two hours a day)

- If they didn't exercise (daily).

- If they spent / stayed a long time/ period in space

Remarksfrom (13-14)

1- Each item is allottel marks.

2- The above mentioned answers are accepted itiadth any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make digia is overlooked.

5- If a student writes two answers in one spacesider the first.

Model answers (15-18)

15- the

16- have / had

17- of

18- and / or / besides / with

Remarksfrom (15-18)

1- Each item is allotteB marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless theg gse to new words.
If so, the answer rateer o.

4- Deduct2 marks for a grammar mistake. ( e.g. no.16: has)

5- If the student writes two answers to the sanestion, consider the first.

e —
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Group3 From 24-33
Model answers (19-23)

19- experiments 20- damp 21-elements @2ugh 23- found
Remarks from (19-23)

1- Each item is allotteB marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one spaceahswer ratezero.

5- Repeating the same answer more than oncezaigseven of one of
them is correct.

6- Answers in the form of numberatezero.

Model answer s (24-27)
24- Where is your school (located / situated)?

- Where does your school lie?

- What is near your house?

- Whose school is near your house?

- How far is your school from your house?

- Which / What building is near your house?

- Is your school near your house or far away (from it
25- How many students are (there) in your class?

- What is / about the number of (the) students urybtass?
26- When / In what / which year did your schopén?

- When / In what / which year was your school opehagen?
27- Any logical answer related to the quest®adcepted even if the

answer is one word.

e —
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Remarksfrom (24-27)
1- Each item is allotted marks.
2- Deduct3 marks for a wrong or missing question word/ word cluster

3- Deductl mark for any grammar mistake provided that the total

deduction should not exce8dnarks if the question still makes sense.
4- If a student writes two questions for the sam®neer, consider the first.
5- Overlook capitalization and spelling mistakes.

6- If a student writes the correct question worty ohnis answer rate3 marks.

Model answers (28-31)
28- | had my computer / it repaired.

- | have had my computer / it repaired.
- | am going to have my computer / it repaired.
- | had to / could / should have my computer / itaiegd.
29- (Many) (salad) crops are produced (by farmerf)e area around

the city of Al Ain.
30- (She asked them) when they (first) had met.

31- (I wish) the weather / it wasn’t / weren’t/simo / very hot (at the

moment).

- (I wish) the weather / it was / were cooler / c@@dtthe moment).

- (I wish) the weather / it would / could be cooleold (at the moment).

e —
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Remarksfrom (28-31)
1- Each item is allottefl marks.
2- Overlook spelling mistakes.

3- Deduct2 marks for each grammar mistake provided that the total

deduction should not exceddnarKks.
4- Any relevant answers to the above mentioned areeaccepted.
Model answers (32-33)
32-...... present (simple, progressive) tenses + é&xucorrect modals.
33-...... past (simple, progressive) tenses.
Remar ks from (32-33)
1- Each item is allotted marks.

2- The completion that doesn't make sense eates even if it is

grammatically correct.

3- Deduct2 marks for any grammar mistake, provided that the total

deduction should not exceddnarks if the completion makes sense.

4- Overlook spelling mistakes unless they give ttsanother meaning.
If so, deduc® marks provided that the total deduction should not

exceedd marksif the completion makes sense.
5- Overlook punctuation marks.

6- Any logical completion is accepted.
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Group4 From 34-43
Model answers (34-37)

34- in order not to 35- disastrous 36- at 37- came round
Remar ks from (34-37)

1- Each item is allotteB marks.
2- Only the above mentioned answers are accepted.

3- In case the student writes two answers for dmeesnumber, consider
the first.

4- Overlook copying mistakes.
Model answers (38-41)
38- has studied / has been studying / studieddirsg to study / will study

39- left
40- is
41- had died / were dying / died

Remarksfrom (38-41)

1- Each item is allotteB marks.
2- Only the above mentioned answers are accepted.
3- Overlook spelling mistakes.
4- Complete (verb forms) are required, otherwigeahswer ratezero.
5- Deduct2 marks for a wrong verb form in multi-verb tenses.
(e.g. 41: had die)
6- In case the student writes two answers for #imeesnumber, consider

the first.

| ———
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Model answer 42
42- el gl g il [ dias Gl (3ala) Jariud

randl Jgall g lill Agia ¢pdlel) (5.la)

ranll el P lall 441eS Cdlsl) (32 Jazindd
dvasll dleal) Lins PREGI
suanl) oUail e naS
lacy) S
s

Remarksfor (42)

1- The statement is divided into two units. Each israllotted4 marks.
2- Each unit is treated separately.

3- Any sort of distortion invalidates the trangbatifor that unit.

4- Deductl mark for a missing, or wrongly translated word providedt
the total deduction for the whole sentence shouékteed marks

if it still makes sense. If not, the sentence raées.

5- Any other logical translation is accepted.
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Model answer 43

43-People move to the country \ to escape from crogveimd pollution.

People | move country to escape | crowding pollution
Humans| migrate countryside escaping | overcrowding contamination
Human | emigrate village to avoid traffic jam
beings
Men travel rural places/ | to flee away | jams
areas/ regions

Persons| go avoiding

leave fleeing away

leave for

Remarksfor 43

1- The statement is divided into two units. Thetfimit is allotted4 marks

and the second unit is allott8dnarks.

2- Each unit is treated separately.

3- Any sort of distortion invalidates the answaer thzat unit.

4- Deductl mark for a missing or wrongly translated word, gramioiar

spelling mistakes, capitalization at the beginrohthe sentence,

provided that the total deduction shouldn't excéethrks if the

sentence still makes sense.

5- Any other logical translation is accepted.

6- Overlook spelling mistakes unless they give tisa new meaning.
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Group five - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the compositithve teacher should
make first reading to the whole paragraph to figureif it is relevant to
the topic or not.
3-If a student writes more than the required nunabevords, his/her topic
is accepted.
4- a- On average, a paragraph between 70-80 watels(50 marks).
b- A paragraph between 60-69 words rdtfssmarks).
Deductl mark from each field.
c- A paragraph between 50-59 words rg¢tismarks).
Deduct2 marks from each field.
d- A paragraph between 40-49 words r&8&smarks).
Deduct3 marks from each field.

e- N.B.

A paragraph less than 40 words ra{@% marks).
Deduct5 marks from each field (V+ C+S + G + T).

5-Spelling mistakes are overlooked unless they gsaesto another
meaning. If so, dedudtmark for each mistake.

6- The following chart shows the distribution o&{50 marks):

| ———
Al 8 56! A ghae aadall g sl g Sl Bgha (LAY Bogall - alad) £ AN AN ASL) Y ONY B en el 13 dade



vy T we0 RECe s (imey ROSTCFY (03 (P - (m60e (RT) S0 (et TR 6y evSery (97(Ce (i

- e -

‘P8I Yoea Ul SayeISIW Z 1S11} 8Y) YOOBAQ -
‘sayelsiw pareadal awes ay) 10} 3dUGIewW T 19Npaqg - ‘g'N

"ape.b 0] JuaIdIyNSul
asuodsal 1o asuodsal ou

"apelb 0] JuaIdiynsul
asuodsal Jo asuodsal ou

"apelb 0] JualdIynsul
asuodsal 1o asuodsal ou

"apelb 0] JuaIdIynsul
asuodsal Jo asuodsal ou

‘apelb 01 juaIdIYNSUI
asuodsal Jo asuodsal ou

S rew /)

"po0ISIapuUN usaq aney
01 10U sieadde yse) ayl
sawi 1e ybnouy) sel ays
0) 8suodsal JUeAa|al SWOSd

(S rew 2)

»{se] 8y} Jo} Juaiolnsul

Sl Jewwelb ueaw
deb 10 siolia uanbaly 1nq
Bpajmouy Jewwrelb awos

S rew /)

"se1 ay) o}
ualoINsul s Alejngeaoa
ueaw sdeb Jo sioud
1uanbal) Inq abpajmou
ArejngeooA awos

S rew /)

"Japeal ay) Jo}
swa|qoid areald Bulads
pue uonenound Jo SI0.IS |

S rew 7)

"Japeal ay} Jo ued syl
U0 10yd edliubis yim
Dakanuod Ajuo siI Buiueaw

(Srew g)

ERTENETEN]
Wwos yum 1o swdojanap
yonuw noyum g
asuodsal uensjal Ajable|

(812w 8)

‘a1elnaoeul

uey} ajeindode alowl
‘rewwelb ayy Jo abuel
e Jo abpajmouy arenbape

____®qrews) |
Hsel ayl

no A1red 01 palinbal swalll

ArejngeooA ayi Jo abuel

e Jo abpajmouy arenbape

(S1ew g)

"1apeal ay}
0} swa|qoid anpun asned

3,uop 1ng Ina20 bulads
pue uonenound Jo S1o49

(Srew g)

lapeal ay) Jo} swajgoid
anpun INOYIM Ing SI0JI9
aWos Yim pakaauod

sI Buiuesw |[eJano

(S>rew )

‘palojdxa

AjInJ 10u 1o padojanap
Ajrenued si 1ng 1uensjal
Ajjoym sI asuodsal

(812w 6)

'SaINJoNAs

x3|dwod ul 1daoxa
IN220 SloJia Ma) ‘abesn
rewiwrelb jo abuel poob e

(S rew )

‘Arejngqeaon

x3|dwod ul 1daaxa 1n220
SJ10413 Ma) ‘Aleinqedon |

Jo abuel poob e

($x11ew 6)

‘obenbue| xajdwod ul
n2%0 Aew sioula ‘Buljjads
pue uoneniound poobA

(S11ew )

‘uoneziuebio
poob ‘pueisiapun 01
Sea pue Jes|d sI buluesw

‘padojanap-||am pue
JueA3|al ‘aAIsusyaidwod
SI asuodsal yse) sy}

ay1 Joj palinbal rewwelb
arelidoidde pue ajeinooe
Jo abuel apim AIaA

1o} pasinbai Arejngeaon
arelidoidde pue areinaoe
Jo abuel apim A1aA

xa|dwod pue ajdwis ul
uoieniound pue Bujjads
a1elnooe Ajpwalixa

L ®ewon) | Gyrewor) | @©ewor) [ Srewor) [ __©ewon
‘a1elidoidde

uaym abenbue| xajdwod

se; “se] ayl ‘abenbue) yum 1xal] pasiuebio

-|lM pue jualayod
‘Jea|d ‘uonesuNWWod
Buipuelsino

asuodsa  yse |

Jewiwe 1o

Are|ngedo A

uoirenound
pue Bui|pds

uoljediunwwo)d




sATAVA Y gy JYYyyvyy

' wiia

-y YOAP ol 30 dalad *a"L"‘ Al algs Sladal
oL ﬁ il gl )‘)

haly Y8 130 Ll 3,02l Ll dxial S KT,

i | \: (AR Ay A e G BN Sl A e Bl “"““:‘i«"u}“\:&)‘
Ui- Complete the following paragraph by fillingin | Vil- Complete the following sentences using
the gaps: (20 marks) ' clauses: (14 marks) |
15 1 have just got home----- 3 tw o-day visit 32. I'mreally tired because .........o........... . ‘
16. to Apamea. ----- was only a short 33. The fire had started when ................... . }
17. visit—— 1 will remember it for ever. P
18 Apamea is—— ancient site on the bank of the | VIIl- Choose the correct words in brackets:
Orontes River. } (20 marks) |

| 34. Are you happy with the decision you

l\' - Fill in the spaces \wth words from the list. Use
each word once only: (25 marks)
From, powder, storm, different, stomach, later
| 19. Few children even liked to play with Tom
because he was so
' 20. One afternoon he fed some—— to a friend
' 21. who—-—-became ill. "I'm sorry", said Tome,
22. "but | only wanted to see if it would——
. 23. enough gas in his-—-- to make him fly".

| 35. My sister was never (ability, able) to draw well.

| 37. Too much salt is bad for you, but you shouldn't (do

-

(did,
made)?

| 36.If  want to listen to that side ofcassetteagam I
have to ( overwind, rewind) it. ,

without, do away with) it altogether.

|

' 38. Thunder and rain (be) part of weather.

V- Complete the following dialogue by writing
suitable questions or answers. Write at least

there words for each quesuon {28 marks)
24. Interviewe

Ahmad: I'mw o'kmg for a large travel agency.

Interviewer: Was it easy to find work?
25. Ahmad R, W
26.Interviewer:.. .. W

Ahmad > I start \xork at seven o'clock in the

moXning.
27. Interviewer: ...
Ahmad

.c?

resmmane

1 left my vnl!age to work in the city.

— 39. When the rescues team (arrive), many areas of

|
|

IX- Correct the verbs in brackets: (20 marks)

' the city had been destroyed completely.

The place where an animal ( live) is called its
habitat.

41. Ali (study) law and history this year.

' 40.

Vi- Rewrite the following sentences ad required in
brackets: (32 marks)
28. Many people occupied Damascus before
becoming the Syrian capital.
(passive voice)
29. Sami speaks really quickly
(I wish .........)
30. Do you work in a college?
(report with he asked)
31. She didn't make the dress herself.
(use causative verb)

X- Translation:
Translate the following sentence into Arabic:
(8 marks)
42. The Nobel Prize had been given to several
people from the Arab world.
Translate the following sentence into English:

(7 marks)
43, ,;_5_,-:&1‘ c.a.‘.;l\ rOA\R-A D $ha 4_‘__‘ \s}‘ 12 \r-‘ J
Xl- Composition: (50 marks)

Write a composition of no less than 80 words on

the following topic:

"A magazine article giving advice to people of your
won age who are about to start a new job",

END OF EXAM
AL g



CATAVATEEY JYYYYTVY - i

taa)
:r\'ﬂ)“ ( 1t
—ialy obela W] L.l:lm\ BJ,J.“ (d-‘ 11

SN L PR I PR

|

' 1.Read the following text then do the tasks Below: | Il Read the following text then do the tasks below: |
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| The first paper was made from cloth nearly two

l thousand years ago in China. Although paper can be

; made from all kinds of materials, such as cotton

\ fibres, grass or sugar cane, these days wood pulp is
the material most commonly used to make 'new
paper that is, paper which contains no old or

{ recycled paper.

The modern world uses so much paper that
environmentalists have persuaded us that we
should recycle old paper. There is an increasing
awareness in Syria of the need to recycle both
paper and other materials. Paper-recycling
containers can now be found in some parts of the ,
country and some government agencies have begun
paper recycling programmes. Also, there is greater
education in schools about the need to take care of
our environment. '

Although we use wood pulp from trees to make
new paper, it is not true that recycling paper saves
trees. Trees are a commercially grown long term
crop, so that when they are cut down;, new ones are

| planted. Nearly all new paper is made from wood ‘
grown in sustainable forests. .

Answer the following question: (15 marks)

1. What can paper be made from?

2. Why have environmentalists persuaded people
that they should recycle old paper?

3. When are new trees planted?

Find words in the text which mean the following:
(15 marks)
4. material or fabric used to make clothes

The surgical process is very complex and a lot of
care and patience is required before a surgical
operation can begin. It is essential that every item
in the operating theatre remain clean and
uncontaminated. Clean, sterile items that are free
of germs are kept separated from contaminated
items at all times. All surgical equipment.is sterile
and, if it comes into contact with any unclean
surface, it must be removed or re-sterilised
immediately. Besides the surgeon, the most
important member of the surgical team is the

rl-anesthetist . It is this person's job to administer the
| drugs that allow the patient to undergo surgery at

alli Because surgery would be incredibly painful if a
patient could feel what was happening, anesthetics
are the only way to make surgery possible.

! Local anesthetics are used for smaller surgeries.
They only numb a small area of skin so the patient
doesn't feel the operation as it happens. General
anesthetics are much more serious. They paralyse
the patient and render them unconscious so that a
surgeon can operate much more easily, without
fear of sudden movements that could cause an
accident or harm the patient.

Choose the correct answer a, b or ¢: (12 marks)
9. The surgical process is very ........... .

a- easy b- complicated c- simple
10. An anesthetist is a person who provides the

patient with drugs to....... him feeling pain during
the surgery.

a- allow

b- help c- stop
Match two of the underlined words from the text
to the definitions/meanings below:

5. a practice of product that can be used or re-used
without causing damage to the environment

6. have or hold within itself

Rewrite these sentences about the text to correct

new paper.

8. People in Syria are not aware of the importance
of recycling materials.

(12 marks)
11. experience something unpleasant

12. to make somebody unable to feel anything

- = Complete the following sentences with information
the information: (10 marks) from the text: (12 marks)
7. Grass is the most common material used to make

13. The patient must remain unconscious during a
surgery because sudden movements may...... .

14, Any surgical item or equipment that is touched by
any dirty surface must............... :
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Group 1 From 1- 8
Model answers. (1-3)
1- Paper/ It can be made from cloth, cotton fibgeass, sugar cane or / and
wood pulp .
- Paper /It can be made from all kinds of matersl€h as cotton
fibres / grass / sugar cane / cloth / wood pulp.

2- Because the modern world uses so much paper.

- To take care of our environment.
3- When ( old ) trees are cut down.
Remarksfrom (1-3)
(N.B): - Information between brackets is optional.
1- Each item from (1-3) is allottégimarks.
2- Overlook irrelevant information.
3- Overlook copying, spelling and grammar mistakes.

4- Any logical answer is accepted.
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Model answersfrom (4-6)
4- cloth / cotton (fibres)
5- sustainable / recycling
6- contain / contains

Remar ks from (4-6)

1- Each item from (4-6) is allottégimarks.

2- Only the above- mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the sai@mj consider the first.

Model answer s from (7-8)
7- Wood pulp is the most common material used tkenmeew paper.

- Grass is one of the materials used to make new pape
- Wood (pulp).

- Grass is not the most common material used to mekepaper.

8- People in Syria are aware of the importanaeoycling materials.

Remar ks from (7-8)

1- Each item is allotteB marks.

2- The above mentioned answers are accepted ihiadth any logical answer.
3- Overlook copying, grammar and spelling mistakes.

4- If the student writes only the correction withoewriting the whole correct

sentence, his answer rates full mark.
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Group2 From 9-23

Model answers (9-10)

9- (b) / complicated

10- (c) / stop

Remarks from (9-10)

1- Each item is allottel marks.

2- Either the letter or the complete answer is pigkor both.
3- If thestudentwrites two answers to the same item, considefitsie
4- Overlook copying mistakes.

Model answers (11-12)

11- undergo

12- numb

Remarksfrom (11-12)

1- Each item is allottel marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- |If the studentwrites two answers to the same item, considefitsie

A gl 5o Adglaae audall g magillg il Gela (Y0 VY ale JLaSYI B gh gald - alal) g AN A L) Aall)
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Model answers (13-14)

13-.......... cause an accident or / harm the patient.
14-.......... be removed or / re-sterilised (immedyatel

Remarksfrom (13-14)
1- Each item is allotte marks.

2- The above mentioned answers are accepted itiadth any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make digia is overlooked.

5- If a student writes two answers in one spacesider the first.

Model answers (15-18)

15- from / after

16- It

17- and / but/ yet/ still
18- an

Remarksfrom (15-18)

1- Each item is allotteB marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless theg gse to new words.
If so, the answer rateer o.

4- Deduct2 marks for a grammar mistakée.g. no.18: a)

5- If the student writes two answers to the saneston, consider the first.
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Group3 From 19-33
Model answers (19-23)

19- different  20- powder 21- later -2&m 23- stomach
Remarks from (19-23)

1- Each item is allotteB marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one spaceahswer ratezero.

5- Repeating the same answer more than oncezaigseven if one of
them is correct.

6- Answers in the form of numberatezero.

Model answer s (24-27)
24- What / Which agency are you working for?

- What kind of agency are you working for?

- Who / What are you working for?

- Where are you working?

- What are you doing?
25- Any logical answer related to the questioadsepted even if the

answer is one word.

26- When / What time do you start work?

N.B. (What do you do at severclockin the morning deduct2 marks
27- Why did you leave your village?

- Where did you leave to work ?

- What did you leave your village for ?
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Remarks from (24-27)
1- Each item is allotted marks.
2- Deduct3 marks for a wrong or missing question word/ word cluster

3- Deductl mark for any grammar mistake provided that the total

deduction should not exce8dnarks if the question still makes sense.
4- If a student writes two questions for the sam®ager, consider the first.
5- Overlook capitalization and spelling mistakes.

6- If a student writes the correct question wortyohnis answer rate3 marks.
7- Any logical answer is accepted.

Model answers (28-31)

28- Damascus was occupied (by many people) béfereming the
Syrian capital.

29- (I wish) Sami / he would / could speak slowly

- (I wish) Sami / he wouldn’t speak so / very quyckl
- (I wish) Sami / he didn't speak so / very quickly.

- (I wish) Sami / he spoke slowly.
30- (He asked) if I / he/she/you /we /thyrked in a college.
31- She had the dress /it made.

- She had to / could have it made.

Al 5 e Adglae audall g magillg LA Gela (Y0 VY ale JLaSYI B gh gald - alal) g AN Ayl A3l))  Bdadua



Remarksfrom (28-31)
1- Each item is allottefl marks.
2- Overlook spelling mistakes.

3- Deduct2 marks for each grammar mistake provided that the total

deduction should not exceddnarks.
4- Any relevant answers to the above mentioned areeaccepted.
Model answers (32-33)

32-...... present (simple, progressive, perfect ,gmréontinuous) tenses

+ simple past + past continuous + correct modals.
33-...... past (simple, progressive) tenses.
Remarks from (32-33)
1- Each item is allotted marks.

2- The completion that doesn't make sense eates even if it is

grammatically correct.

3- Deduct2 marks for any grammar mistake, provided that the total

deduction should not exceddnarks if the completion makes sense.

4- Overlook spelling mistakes unless they give ttsanother meaning.
If so, deduc® marks provided that the total deduction should not

exceedd marks if the completion makes sense.
5- Overlook punctuation marks.

6- Any logical completion is accepted.
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Group4 From 34-43
Model answers (34-37)

34- made 35- able 36- rewind 37- do without
Remar ks from (34-37)

1- Each item is allotteB marks.
2- Only the above mentioned answers are accepted.

3- In case the student writes two answers for dmeesnumber, consider
the first.

4- Overlook copying mistakes.
Model answers (38-41)

38- are
39- arrived
40- lives

41- is studying / will study / is going to studizds studied /
has been studying / studied

Remarksfrom (38-41)

1- Each item is allotteB marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes.

4- Complete (verb forms) are required, otherwigeahswer ratezero.

5- Deduct2 marks for a wrong verb form in multi-verb tenses.

6- In case the student writes two answers for #imeesnumber, consider

the first.
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Model answer 42

42-
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ol

Remarksfor (42)

1- The statement is divided into two units. Each israllotted4 marks.

2- Each unit is treated separately.

3- Any sort of distortion invalidates the trangbatifor that unit.

4- Deductl mark for a missing, or wrongly translated word providedt

the total deduction for the whole sentence shouékteed marks

if it still makes sense. If not, the sentence raées.

5- Any other logical translation is accepted.
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Model answer 43

43- People come to Damascus / to see the Omayyadudosq

People cometo | Damascus to see
Humans visit the city ofDamascug to sight-see
Human beings | headto | Damascus city for seeing / sight-seeing
Men arrive in to have a look at
Persons get to to look at
Individuals travel to to observe

come over

Remarksfor 43

1- The statement is divided into two units. Thetfimit is allottedt marks

and the second unit is allott8dnarks.
2- Each unit is treated separately.
3- Any sort of distortion invalidates the answaer thzat unit.

4- Deductl mark for a missing or wrongly translated word, gramioiar
spelling mistakes, capitalization at the beginrohthe sentence,
provided that the total deduction shouldn't excéethrks if the

sentence still makes sense.
5- Any other logical translation is accepted.

6- Overlook spelling mistakes unless they give tisa new meaning.
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Group five - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the compositithve teacher should
make first reading to the whole paragraph to figureif it is relevant to
the topic or not.
3-If a student writes more than the required nunabevords, his/her topic
IS accepted.
4- a- On average, a paragraph between 70-80 watels(50 marks).
b- A paragraph between 60-69 words rd#i&smarks).
Deductl mark from each field.
c- A paragraph between 50-59 words rdtismarks).
Deduct2 marks from each field.
d- A paragraph between 40-49 words rd8&smarks).
Deduct3 marks from each field.

e- N.B.

A paragraph less than 40 words ra{@8 marks).
Deduct5 marks from each field (V+ C+S + G + T).

5-Spelling mistakes are overlooked unless they gaeeto another
meaning. If so, dedudtmark for each mistake.

6- The following chart shows the distribution o&{50 marks):
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| 1- Read the following text then do the tasks
below:
Ihe sand gazelle is o horned animal that lives
across the Arabian Gulf and North Africa,
In the summer months, sand gazelles live in
small Tamily groups of around ten individuals.
| During the winter, they congregate in larger
herds. They are ideally suited to the desert
environment with their white heads and sand-
coloured bodies. This allows them to blend into
| the desert, camouflaging them from predators.
|'| Sand gazelles are small mammals, weighing
\I only 20 kg. However, they are very quick and
| have been known to reach speeds of almost 100
km per hour. They are excellent jumpers and use
their speed and agility to evade the attention of
predators.
The sand gazelle is in danger of extinetion,
| mainly due to habitat loss and hunting. However,
there have been some elforts to save ”’ICII'I_. and
| some countries have begun breeding them for
release into the wild. There have been some

successes. but the battle to save them and other
continues. In Syria, there is an

specics
awareness about the importance ol

native
(ncreasing
saving wild animals

Answer the following ¢ uestions:
Answer the 107 I

{ gazelle live?

(18 marks)
1. Where does the sant

does the body of the sand gazelle protect

- harm in the descert /

[ from

3_ r']lr?'\'l

1 Why 18 thc and '_'.in';’-"”f ih danger of
extinclion.

an the following:

(10 marks) ‘

{ which me

Find words 10 the tex

4.cscape o1 avold L

5 an animal that kills and eats other animals

Rewrite these sentences about the text to correct

(12 marks)

Sand gazelles are sl

ow and their top speed is
50 km per hour
Recently, people in Syria have become less

aware of the importance f}l':i;_l\fil'l.l_l wild animals.
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«t then do the tasks

{1 Read the following te
bhelow:

One of the most si
history occurred at th
century when experts pre«
systems would malfunction at

December 1999. Computer scientists e
Ahat [T programmes wou!rii ‘::050\’::2:1"\‘}1;3; \\P'ith fo
v wmnf‘ ::J,q.ug:; :.:;{ead of 1998, for
believed that the year 2000 thl_lld be
0. and would be interpreted by

' 1900, This bétamg kaGwn as
the Millennium Bug, or the Year 300‘0 P’;S:r]]‘:m
They predicted that [T systems, TP@E’“E_ et
meteorological devices and lfIO:SP!l‘rll]___.ll’-_‘-qU’PI’ 5

data storage systems in govermments, banks a.ndEd
airports, woulld fail, Juvas thought that embed
systems that also made use of date logic. such as
utilities and.other crucial infrastructure, would
collapse'tae. When midnight arrived, the
Millefinitim Bug caused only minimal damages

some Australian bus-ticket machines failed to work
and.a few British banking transactions were
jemporarily disrupted. Many still debate whether
the Millennium Bug's limited effect was thanks 1o

substantial government expenditure or whether its
i'lf'l._'di(:tt:l.l threat was over-stated by the media.

gnificant moments inIT

e close of the twentieth
dicted that computer
midnight on 31
sts speculated

ine
digits instead 0
example. They
rcprcscnlcd by 0OC
software as the year I

Choose the correct answer a, b or c:

(12 marks)

8. Some scientists predicted that I'T programmes
would give ---------- results because they
stored years with two digits instead of four.

a- right b- wrong ¢- accurate
9. The damage caused by the Millennium Bug

a- great b- big ¢- small

Maich two of the underlined words from the
text to the definitions/meanings below:

) (12 marks)
10. fixed firmly and deeply in a surrounding mass.

11. to fail to work normally.

Complete the following sentences with information
from the text: (12 marks)

12. In Australia, the Millennium Bug caused ........

13. The predicted threat of the Millennium Bug was
expressed strongly by

.
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I- Groupl: 1-7

II- Group2: 8-13

III- Group 3: 14 - 24

IV- Group 4: 25-33

V- Group5: 34 -38

VI- Group 6: composition
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Group 1 - From (1-7)
Model answers: (1-3)

1- (The sand gazelle / It lives) across / in the Arabian Gulf and North Africa.
- If the student mentions only one place, his answer rates full mark.
2- (They are suited to the desert environment ) with their white heads and
sand-coloured bodies.
- Their white heads and sand-coloured bodies allow them to blend into
the desert, camouflaging them from predators.
- They are excellent jumpers and they use their speed and agility to
evade the attention of predators.
- If the student mentions only one reason, his answer rates 3 marks.
3- (The sand gazelle / It is in danger of extinction, mainly due to / because of)
habitat loss and hunting.

- If the student mentions one of the two reasons: habitat loss or

hunting, his answer rates full mark.
Remarks from (1-3)
(N.B):- Information between brackets is optional.
1- Each item from (1-3) is allotted 6 marks.
2- Overlook irrelevant information.
3- Overlook copying, spelling and grammar mistakes.

4- Any logical answer is accepted.
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Model answers from (4-5)
4- evade
5- predator(s)

Remarks from (4-5)
1- Each item from (4-6) is allotted 5 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.
4- If the student writes two answers for the same item, consider the first.
Model answers from (6-7)
6- Sand gazelles are (very) quick and their top speed is 100 km per hour.
- Sand gazelles are (very) quick and have been known to reach speeds of

(almost) 100 km per hour.

7- Recently, people in Syria have become (more)aware of the importance of
saving wild animals.
- In Syria, there is an increasing awareness about the importance of

saving wild animals. (N.B. This sentence should be written completely)

Remarks from (6-7)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical answer.
3- Overlook copying, grammar and spelling mistakes.

4- If the student writes only the correction without rewriting the whole correct

sentence, his answer rates full mark.
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Group 2 - From (8-13)
Model answers (8-9)
8- (b) / wrong
9- (c¢)/small
Remarks from (8-9)
1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers to the same item, consider the first.

4- Overlook copying mistakes.

Model answers (10-11)

10- embedded

11- malfunction

Remarks from (10-11)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4-If the student writes more than one answer to the same question his answer

rates zero even if one of the answers is correct.

5 Al byl Al giaa audallg au sl g il (s 2014 alad Y Ailaia¥) B gl Gald / alall £ A1)/ 4y SISy A3 Bala

1444494444949494449494944494949444949494494949449494944949494449494944949494944949494949494494949449414

YMJKK\K\Qﬁ\CK\CK\C\K\C\K\C\KKKK\KK\KK\KK\K\C\KK\Q&\(\KYJKKX\CK\CK\CK\C\KYX.\C\K\C\KK\K\CK\CK\CK\CK%\KKKK{E

S aSatatataaas a% aS a5 a5 2% a5 a8 S a8 St ata A e a¥ a8 a5 2% a5 a5 a5 a8 S a8 N e e A a% aX A% 2% a5 a5 5 a5 a5 8 a8 8 a8 a2 A aS aS a5 a8 a8 S S a5 S S S S Xt e o a¥ a¥ a5 a5 S S

aSaSalaSaSat ot Xt e A s A% a5 a5 a5 a5 a5 8



1 44444444949494494949494494949494494949494494949494499494944949494944994949499494949494949494494949449494949444474

a3 aSatataSaS S et asat o a o A% A% aS a5 a5 5 a5 a5 a8 8 a8 S a A A A e a8 a5 a5 a5 a5 a5 a8 a8 a0 A A e aS a8 2% a5 a5 5 a5 a5 S S St e e A aX aX aS A% aS a5 35 25 5 8 a8 a8 a5 a0 a e A% a% a% a5 5 25 a5 a5 a8 a8 a8 S A a5 a5 a5 5 8

Model answers (12-13)
12- e the stop / the failure of bus-ticket machines to work.

S bus-ticket machines to stop/ to fail
S s (only) minimal damage

13- .l the media
N.B. - any type of media is accepted(e.g. radio, TV,...)

Remarks from (12-13)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make distortion 1s overlooked.
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Group 3 - From (14-24)

Model answers (14-16)
14- been

15- which / that
16- and / with / in addition to / as well as / besides

Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked unless they give rise to new words. If so,
the answer rates zero.

4- If the student writes two answers to the same question, consider the first.

Model answers (17-20)
17- curious

18- enjoyed
19- ground
20- himself

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)
21-  Where did your brother / Hani travel (to) ?
- Who travelled / went/ had been to Australia ?
- What did your brother do?
- Who did travel to Australia?
- Where is your brother Hani?
- Which/What country did your brother travel to?
- Which brother/of your brothers travelled/went/had been to Australia?

N.B. If the student writes whom instead of who deduct 3 marks

22-  What is he studying / doing there / in Australia ?
- Why did he travel there?
- Which/ What subject is he studying there/in Australia?
23- How long / how many years / How much time has he been there / in Australia?
24-  Any logical answer related to the question is accepted even if the answer is
one word.

Remarks from (21-24)

1- Each item is allotted 8 marks.

2- Deduct 3marks for wrong question word / word cluster.

3- Deduct 2 marks for any grammar mistake provided that the total
deduction should not exceed 3 marks if the question still makes sense.

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns,
4- If a student writes two questions for the same answer, consider the first.
5- Overlook capitalization and spelling mistakes.
6- If a student writes the correct question word only, his answer rates 3 marks.

N.B: Yes/No questions rate (5 marks ) unless they include the answer ,if so the
answer rates zero.
e.g.
- Did your brother travel? rates 5 marks.

- Did your brother travel to Australia? rates zero.
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Group 4 - From ( 25-33)

Model answers (25-28)
25- The halls were made wider than the rest of the tunnel.
26- I wish you wouldn't/didn't (lose things).
- I wish you weren't (losing things).
- I wish you would be more careful
27- She asked them if / whether they were enjoying married life.
28- They/People/get/ have their cars / them serviced.
Remarks from (25-28)
1- Each item is allotted 8 marks.

2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction
should not exceed 4 marks.

4- Any relevant answers to the above mentioned ones are accepted.

Model answers (29-30)

29- ... all past tenses.

30- ...... all present tenses + future + correct modals + simple past +

(past progressive as a result)

Remarks from (29-30)

1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically
correct.

3- Deduct 1 mark for any grammar mistake, provided that the total deduction
should not exceed 3 marks if the completion makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark provided that the total deduction should not exceed
3 marks if the completion makes sense.

5- Overlook punctuation marks.
6- Any logical completion is accepted.
7- The clause should contain a subject and a verb.

Model answers (31-33)

31- talented

32- make

33- put up with

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes.
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Group 5 - From ( 34-38)

Model answers (34-36)

34- will have / are going to have / are having /might have/may have/could have.

35- switched / had switched /must have switched/might have switched/may
have switched/ could have switched.

36- have not slept / have not been sleeping.

Remarks from (34-36)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes.

4- Complete (verb forms) are required, otherwise the answer rates zero.

5- Deduct 2 marks for a wrong verb form in multi-verb tenses.
(e.g. n0.35 had switch)

6- In case the student writes two answers for the same number, consider the

first.
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Model answer 37
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Remarks for (37)

4- Deduct 1 mark for:

- a grammar mistake

if 1t still makes sense.
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2- Each unit is treated separately.

- a missing, or wrongly translated word

and the other two units are allotted 3 marks each.

- a spelling mistake if it gives rise to a new meaning

5- Any other logical translation is accepted.

1- The statement is divided into three units. The first unit is allotted 4 marks,

3- Any sort of distortion invalidates the translation for that unit.

provided that the total deduction for the whole sentence shouldn't exceed 4 marks
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Model answer 38

38-The driver / motorist felt guilty/sorry// even though / though / although/even he

wasn't responsible for the accident.

- The driver / motorist felt guilty although the accident wasn't his responsibility /

fault/ mistake / cause.

- Although the accident wasn't his responsibility/ fault/ mistake, the driver felt
guilty.

- The driver / motorist felt guilty although he didn't cause the accident.
- The driver / motorist felt guilty although he wasn't the reason of the accident.

Remarks for 38
1- The statement is divided into two units. Each unit is allotted 4marks.
2- Each unit is treated separately.
3- Any sort of distortion invalidates the answer for that unit.
4- Deduct 1 mark for:
- a missing or wrongly translated word
- a grammar mistake
-a spelling mistake if it gives rise to a new meaning,
provided that the total deduction shouldn't exceed 3 marks if the sentence
still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Deduct 1 mark from each field.
c- A paragraph between 50-59 words rates (40 marks).
Deduct 2 marks from each field.
d- A paragraph between 40-49 words rates (35 marks).
Deduct 3 marks from each field.
e- A paragraph between 25 - 39 words rates (25marks).
Deduct 5 marks from each field.
f- A paragraph less than 25 words rates (20 marks)

N.B. - Overlook the first 3 mistakes from spelling and grammar then deduct
one mark for each mistake.

5- The following chart shows the distribution of the (50 marks):
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Communication

Spelling and punctuation

Vocabulary

Grammar

Task response

Excellent outstanding
communication; very clear,
coherent and well-organised
text with complex language
when appropriate.

..-.-.-.-.-.c.@.ﬁﬁ_.ﬁ.-.-.-.-.-
Very good outstanding
communication; very clear,
coherent and well-organised
text with complex language

when appropriate.

communication; very clear,

coherent and well-organised
text with complex language
when appropriate.

(8 marks)

extremely accurate spelling
and punctuation in simple
and complex language.

(10 marks)

extremely accurate spelling
and punctuation in simple

and complex language.

accurate spelling and
punctuation in simple and
complex language.

(8 marks)

very wide range of accurate
and appropriate vocabulary
required for the task.

S (10 marks)__._._._.J
very wide range of accurate
and appropriate vocabulary

required for the task.

wide range of accurate and
appropriate vocabulary
required for the task.

(8 marks)

very wide range of accurate
and appropriate grammar
required for the task.

very wide range of accurate
and appropriate grammar
required for the task.

wide range of accurate and
appropriate grammar
required for the task.

(8 marks)

the task response is
comprehensive, relevant and
well-developed.

.-.-.-.-.-.w_.@.ﬁmmmmw.-.-.-.-.-.
the task response is
comprehensive, relevant and

well-developed.

comprehensive, relevant and

well-developed.

(8 marks)

meaning is clear and easy to
understand; good
organization.

(7 marks)

good punctuation and
spelling; errors may occur in

complex language.
(7 marks)

a good range of vocabulary;
few errors occur except in

complex vocabulary.
(7 marks)

a good range of grammar
usage; few errors occur
except in complex structures.

(7 marks)

response is wholly relevant
but is partially developed or
not fully exploited.

(7 marks)

overall meaning is conveyed
with some errors but without
undue problems for the

(Smarks)

errors of punctuation and
spelling occur but don't
cause undue problems for the

(Smarks)

adequate knowledge of a
range of the vocabulary
items required to carry out

the task.
(5 marks)

adequate knowledge of a
range of the grammar; more
accurate than inaccurate.

(5 marks)

largely relevant response but
without much development
or with some irrelevance.

(5 marks)

meaning is only conveyed
with significant effort on the
part of the reader.

(4marks)

errors of punctuation and
spelling create problems for
the reader.

(4 marks)

some vocabulary knowledge
but frequent errors or gaps
mean vocabulary is

insufficient for the task.
(4 marks)

some grammar knowledge
but frequent errors or gaps
mean grammar is insufficient
for the task.

(4 marks)

some relevant response to
the task, though at times the
task appears not to have been
understood.

(4 marks)

N.B. - Deduct 1 mark once for the same repeated mistakes.

Overlook the first 3 mistakes in spelling and grammar .
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I- Groupl: 1-7

II- Group2: 8-13

III- Group 3: 14 -24

IV- Group 4: 25-33

V- Group5: 34-38

VI- Group 6: composition

AU Sl Je s JS At Adlall i -

sl ey ) e (X) 5l pass -

el Al (8 Ao ganall Ales die aje (B gy desaae JST ALY Gl pend -
Ayl dallly 4, Ll s

zaadll Ge IS das Glsjall Joas 4 L) asaddl) Jaall Jl degaae SSdapn pdp -
(bally MV 5ulll Jin 3lelye aa) Lgle adsns danl) Fadlly

dsiall 385 Slapall #5555 oy Galall Jsaall aapie LAY poage i Algd 230 -
alal i JS day0 pumgiy AlaY) A3y (T, G, V, S, C) cnall puasiy iyl
Sl dsas L paadd) daall ) wdfig ape Gan agis pand @ i S

2 A i 81590 Ada ghace padall g aigill g pil) (Gga ¥ o) € alad A0 Ailatial) 8 ) gally ald /aladl £ il 4 5u0S5Y) ARdl) Baka

KKK R KR R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R KRR R R KR K
alatatatatalatatalatas a5 atat S aSat oS A At et S A a8 S Al a8 X S A AN A Al a8 X A a8 A a8 X S a0 a8 X A A a8 a8 N A S a5 N A a5 a8 A a5 A At A X S S A X X S X a5 N A a8 8 A S S S S X S S S S S S S S S S S X S S S S S S S S S S S S S S S S 5 S



KNI
Group 1 - From (1-7)
Model answers: (1-3)
1- to (help them) commit crimes (like identity theft and to make it easier to
commit old crimes like theft or fraud).
- to commit old crimes (like theft / fraud).
- to commit theft / fraud.
- To order goods without paying.
- To break into the computer system of businesses and move money to
their own account.
- To send viruses which can damage computers and the information they
contain.
2- (It refers to) "computers".
3- Because (usually) nothing is actually stolen or physically damaged.
- Because (usually) nothing is actually stolen.
- Because (usually) nothing is physically damaged.
- (Because) they are invisible and their actions may be hard to prove.
Remarks from (1-3)
(N.B):- Information between brackets is optional.
1- Each item from (1-3) is allotted 6 marks.
2- Overlook irrelevant information.
3- Overlook copying, spelling and grammar mistakes.

4- Any logical answer is accepted.
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Model answers from (4-5)
4- virus(es)
5- prove

Remarks from (4-5)

1- Each item is allotted 5 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.

Model answers from (6-7)

6- In recent years the number of people using the Internet has become more /
has grown / has increased.

7- Computers help criminals to persuade people to buy something worthless /
invaluable

- Computers help criminals to persuade people to pay for worthless/
invaluable things.

Remarks from (6-7)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical answer.

3- Overlook copying, grammar and spelling mistakes.
4- If the student writes only the correction without rewriting the whole correct

sentence, his answer rates 3 marks.
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Group 2 - From (8-13)

Model answers (8-9)
8- (b) / at one time
9- (a)/useless
Remarks from (8-9)

1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers to the same item, consider the first.
4- Overlook copying mistakes.

Model answers (10-11)

10- mechanism

11- shuttle

Remarks from (10-11)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.

4-If the student writes more than one answer to the same question, his answer
rates zero even if one of the answers 1s correct.

Model answers (12-13)

12- e, stay healthy / avoid spreading germs.

13- has a specific assigned role and receives intensive training for it.
ST has a specific assigned role / receives intensive training for it.

Remarks from (12-13)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.
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Group 3 - From (14-24)

Model answers (14-16)
14- in/near /by /on/ inside / at / beside / before / behind

15- a/one
16- 1is

Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked unless they give rise to new words. If so,
the answer rates zero.

4- If the student writes two answers to the same question, consider the first.
N.B: No. 16 If the student writes was, his answer rates 4 marks.

Model answers (17-20)

17- work
18- putting
19- same
20- carried

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)

21-  Where were you born?

What / Which place were you born in?

Were you born in the city or in the country?

22- (For) How many years have you lived / been there?

(For) How long have you lived / been there?

(For) How much time have you lived / been there?
23- What did you enjoy (there)?

- What / Which (kind of) life did you enjoy?
24-  Answers vary.

Remarks from (21-24)

1- Each item is allotted 8 marks.
2- Deduct 2 marks for wrong question word / word cluster.
3- Deduct 2 marks for any grammar mistake provided that the total

deduction should not exceed 4 marks if the question still makes sense.

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns,
4- If a student writes two questions for the same answer, consider the first.
5- Overlook capitalization and spelling mistakes.
6- If a student writes the correct question word only, his answer rates 3 marks.
N.B: No. 24

- Any logical answer is accepted.

- If a student writes one meaningful word only, his answer rates 4 marks.
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Group 4 - From ( 25-33)

Model answers (25-28)
25-  Their / The house was built by a local builder.
26- I wish I could speak French.

- IwishlI could.

- I wish I spoke French.
27- He is going to have/get it/his own photo taken.

- He will have/get it/ his own photo taken.
28- She asked them if they had enjoyed their holiday.
Remarks from (25-28)

1- Each item is allotted 8 marks.
2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction
should not exceed 4 marks.

N.B: No. 25 If the student writes one element only, his answer rates zero.

Model answers (29-30)

29- ... all past tenses + simple present tense + suitable modals.

30- ...... simple present tense + present modals + future.

Remarks from (29-30)

1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically
correct.

3- Deduct 1 mark for any grammar mistake, provided that the total deduction
should not exceed 3 marks if the completion makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark provided that the total deduction should not exceed
3 marks if the completion still makes sense.

5- Overlook punctuation marks.
6- Any logical completion is accepted.
N.B: No. 30 Any completion in a form of instruction or advice is accepted

because it 1s a conditional sentence.

Model answers (31-33)

31- make

32- because

33- earnings

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes.
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Group 5 - From ( 34-38)

Model answers (34-36)

34- have not slept / have not been sleeping

35- had

36- will play / are going to play / are playing

Remarks from (34-36)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes.

4- Complete (verb forms) are required, otherwise the answer rates zero.

5- Deduct 2 marks for a wrong verb form in multi-verb tenses.

(e.g. n0.34 have not sleeping)

6- In case the student writes two answers for the same number, consider the

9

first.

A i 81590 Ada ghace padall g aigill g pil) (Gga ¥ o) € alad A0 Ailatial) 8 ) gally ald /aladl £ il 4 5u0S5Y) ARdl) Baka

oot A A A A A A AX 0 X X X o8 5 08 8 S 0 0 o O 8 8 S 0 S o o 8 S S 8 8 8 0 0 0 0 0 0 8 0 0 0 0 S 0 0 S



KK KRR R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R KRR

Model answer 37

2l Galall A GudlSl) (5ale) Jol / Al o Gulil) oL iay 37

Sl Gkl | gl 48)5a bl ARAN Giay
slall 2Ly bl daylia &) 38) sy
Sall sl s Uadle oalazy) ey
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Bl Ll B
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Remarks for (37)

- a grammar mistake

3- Deduct 1 mark for:

2- Each unit is treated separately.

- a missing, or wrongly translated word

- a spelling mistake if it gives rise to a new meaning

4- Any other logical translation is accepted.

1- The statement is divided into two units. Each unit is allotted 5 marks.

provided that the total deduction for the whole sentence shouldn't exceed 4 marks
if it still makes sense.
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Model answer 38

38-In Autumn, a lot of animals migrate / (to the) south to find food.

Autumn | alotof | migrate (to) (the) south to find
Fall lots of move (to) southwards to look for
many travel (to) looking for
most leave for

searching for

seeking for

for finding food

for food
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Remarks for 38

3- Deduct 1 mark for:

- a grammar mistake

2- Each unit is treated separately.

- a missing or wrongly translated word

sentence if it still makes sense.

4- Any other logical translation is accepted.

-a spelling mistake if it gives rise to a new meaning,

1- The statement is divided into two units. Each unit is allotted 4 marks.

provided that the total deduction shouldn't exceed 3 marks for the whole
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Deduct 1 mark from each field.
c- A paragraph between 50-59 words rates (40 marks).
Deduct 2 marks from each field.
d- A paragraph between 40-49 words rates (35 marks).
Deduct 3 marks from each field.
e- A paragraph between 25 - 39 words rates (25 marks).
Deduct 5 marks from each field.
f- A paragraph less than 25 words rates (20 marks)

N.B. - Overlook the first 2 mistakes from spelling and grammar then deduct
one mark for each mistake.

5- If the student writes two compositions, consider the first.

6- The following chart shows the distribution of the (50 marks):
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Group1 From 1-7
Model answers: (1-3)

1- The most important administrative buildings, government offices, as well as
embassies from other countries / The key political buildings.
(N.B): - If the student writes only one item, his answer rates full mark.
2- Because it has been (continually) inhabited for thousands of years.
- Because it has been continually inhabited.
3- They are (both) administrative centres and contain the key political buildings and
institutions.
- Both of them are administrative centres and contain the key political
buildings and institutions.
- Each of them is an administrative centre and contains the key political
buildings and institutions.
- Both are capital cities.
Remarks from (1-3)
(N.B): - Information between brackets is optional.
1- Each item from (1-3) is allotted 6 marks.
2- Overlook irrelevant information.
3- Overlook copying, spelling and grammar mistakes.

4- Any logical answer is accepted.
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Model answers from (4-5)

4- embassies / embassy

5- located

Remarks from (4-5)

1- Each item from (4-95) is allotted 5 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.

Model answers from (6-7)
6- The commercial and administrative centre of Damascus is outside the walls of the
old city.
- The commercial and administrative centre of Damascus is inside the modern
part of the city.
7- Unlike Damascus, Brasilia is not the major cultural or economic centre of Brazil.
- Brasilia is different from Damascus because it is not the major cultural or
economic centre of Brazil / its country.
- Both Damascus and Brasilia are capital cities.
Remarks from (6-7)
1- Each item is allotted 6 marks.
2- The above mentioned answers are accepted in addition to any logical answer.
3- Overlook copying, grammar and spelling mistakes, unless they distort the meaning
of the sentence. If so, his answer rates zero.
(N.B): No.6- If the student writes only: "is not inside"/ "outside"/ "in the modern city",

his answer rates 3 marks.
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Group2 From 8-13
Model answers (8-9)
8- (b) / wood

9- (a) / causes more pollution

Remarks from (8-9)

1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers for the same item, consider the first.

4- Overlook copying mistakes.

(N.B): No.9- If the student writes only the first word of the correct answer,
his answer rates full mark.

Model answers (10-11)

10- raw

11- melted

Remarks from (10-11)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4-If the student writes more than one answer for the same question, his answer rates

zero even if one of the answers is correct.
Model answers (12-13)
12- el less energy and lower temperature.
ST less energy.
e lower temperature.
13- .ol Rougher, weaker and darker (N.B. If the student writes only one item,
his answer rates full mark.
Remarks from (12-13)
1- Each item is allotted 6 marks.
2- The above mentioned answers are accepted in addition to any logical
completion related to the text.
3- Overlook copying, grammar and spelling mistakes.
4- Any addition or omission that doesn't make distortion is overlooked.
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Group3 From 14-24

Model answers (14-16)

14- to

15- and/as well as / plus / in addition to / besides / with / or

16- the/any

Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.
If so, the answer rates zero.

4- If the student writes two answers to the same question, consider the first.

Model answers (17-20)

17- studying

18- send
19- tears
20- girls

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)
21- Where have you got your guitar from ?
- From where have you got your guitar?
- What/which place/ store/shop have you got your /this /the guitar from ?
- What/which place/ store/shop have you got it from ?
- Where did you get/ buy  your guitar from?
(N.B.): - If the student writes:" What have you got from a/the local shop?",

his answer rates 6 marks.

22- How long have you had it ?
- For how many years have you got  your/this /the guitar?
- For how many years have you got it?

23- How much does it cost ?

- How many (Syrian) pounds does it/the guitar cost?
-  How much did you pay for it/the guitar ?
- How much did you pay to buy it/the guitar ?
-  What is its price ?
- Does it/the guitar cost a lot of money?
- N.B.: If the student writes "Is it/the guitar expensive?" Deduct 2 marks.
24-  (Answers vary)
Remarks from (21-24)
1- Each item is allotted 8 marks.
2- Deduct 2 marks for wrong question word/ word cluster
3- Deduct 2 marks for any grammar mistake provided that the total deduction

should not exceed 3 marks if the question still makes sense.

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns
4- 1f a student writes two questions for the same answer, consider the first.
5- Overlook capitalization and spelling mistakes.
6- If a student writes the correct question word only, his answer rates 2 marks.
7- No.24: If the student uses a different tense and his answer still makes sense, his

answer rates full mark.
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Group4 From 25-33
Model answers (25-28)
25- I wish I could (sing well).
- I wish I was / were able to (sing well).
- Iwish I was /were good at singing.
(N.B.): Ifthe student writes:
- I wish I was / were a good singer
- I wish I sang well
- I wish I would sing well

his answer rates 6 marks.

26- She had it/ the car repaired.
27- He asked them if / whether they enjoyed spending time with each other.
28- A lot of efforts have been made to save endangered animals (in Syria).

Remarks from (25-28)
1- Each item is allotted 8 marks.
2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks.

4- Any relevant answers to the above mentioned ones are accepted.
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Model answers (29-30)

29-  ...... second + third conditional.
30-  ...... past tenses.

Remarks from (29-30)
1- Each item 1is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammaticall
p g y

correct.

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should

not exceed 3 marks if the completion makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark provided that the total deduction should not exceed 3 marks
if the completion still makes sense.

5- Overlook punctuation marks.

6- Any logical completion is accepted.

7- The clause must contain a subject and a verb.

Model answers (31-33)

31- 1n order not to

32- bang

33- disastrous

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.
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Groups From 34-38
Model answers (34-36)

34- was
35- has been writing
36- had taken

Remarks from (34-36)

1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook spelling mistakes.
4- Complete (verb forms) are required, otherwise the answer rates zero.
5- Deduct 2 marks for a wrong verb form in multi-verb tenses.
(e.g. N0.36 : had take)

6- In case the student writes two answers for the same number, consider the first.
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Model answer (37)
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Remarks for (37)

1- The item is allotted 10 marks.

2- The statement 1s divided into 2 units. Each unit is allotted 5 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for a missing, or wrongly translated word provided that the
total deduction for the whole sentence shouldn't exceed 4 marks if it still
makes sense.

5- Any other logical translation is accepted.
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Model answer (38)
38- Doctors advise with / regular exercise and healthy food / because they are very
important to build a strong body.
- Doctors advise that / regular exercise and healthy food / are very important to
have a strong body.

- Doctors: Physicians
- advise: give advice / recommend / offer advice / encourage / urge
- regular: continuous
- exercise: exercising / practice / practicing
- healthy: good
- because: since / as / for
- very important: necessary / crucial / essential / significant
- have: get
- strong body: well body / well being / healthy body / good body

Remarks for (38)

1- The item 1s allotted 10 marks.

2- The statement 1s divided into 3 units. 7he first unit 1s allotted 2 marks, and

the other two units are allotted 4 marks each.

3- Each unit is treated separately.
4- Deduct 1 mark for:
- a missing or wrongly translated word
- a grammar mistake
- a spelling mistake if it gives rise to a new meaning,
provided that the total deduction shouldn't exceed 4 marks if the sentence
still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make first
reading to the whole paragraph to figure out if it is relevant to the topic or not.
3-1f a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Deduct 1 mark from each field.
c- A paragraph between 50-59 words rates (40 marks).
Deduct 2 marks from each field.
d- A paragraph between 40-49 words rates (35 marks).
Deduct 3 marks from each field.
e- A paragraph between25 - 39words rates (25marks).
Deduct 5 marks from each field.
f- A paragraph less than 25 words rates (20 marks)

N.B. - Overlook the first two spelling and grammar mistakes, then deduct
one mark for each mistake.

5- The following chart shows the distribution of the (50 marks):
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Spelling and

coherent and well-

punctuation in simple

appropriate vocabulary

appropriate grammar

Communication . Vocabulary Grammar Task response
punctuation
outstanding extremely accurate very wide range of very wide range of the task response is
communication; clear, | spelling and accurate and accurate and comprehensive, relevant

and well-developed.

organised text with and complex language. | required for the task. required for the task.
complex language when
Lappropriate. 0ol
(10 marks) (10 marks) (10 marks) (10 marks) (10 marks)

meaning is clear and
easy to understand;

good punctuation and
spelling; errors may

a good range of
vocabulary; few errors

a good range of
grammar usage; few

response is wholly
relevant but is partially

good organization. occur in complex occur except in complex | errors occur except in developed or not fully
................................. language. | vocabulary. | complexstructures. | exploited.
(9 marks) (9 marks) (9 marks) (9 marks) (9 marks)
overall meaning is errors of punctuation adequate knowledge of | adequate knowledge of | largely relevant

conveyed with some
errors but without

and spelling occur but
don't cause undue

a range of the
vocabulary items

a range of the grammar;
more accurate than

response but without
much development or

undue problems for the | problems for the reader. | required to carry out the | inaccurate. with some irrelevance.
reader L] L U
(8 marks) (8 marks) (8 marks) (8 marks) (8 marks)
meaning is only errors of punctuation some vocabulary some grammar some relevant response
conveyed with and spelling create knowledge but frequent | knowledge but frequent | to the task, though at

significant effort on the
part of the reader.

(7 marks)

problems for the reader.

(7 marks)

errors or gaps mean
vocabulary is
insufficient for the task.

(7 marks)

eITors or gaps mean
grammar is insufficient
for the task.

(7 marks)

times the task appears
not to have been
understood.

(7 marks)

N0 response or response
insufficient to grade.

NO response or response
insufficient to grade.

N0 response or response
insufficient to grade.

NOo response or response
insufficient to grade.

1NO response or response
insufficient to grade.

N.B. Deduct 1 mark once for the same repeated mistakes.
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Group1 From 1-7
Model answers: (1-3)

1- (People visit zoos) to see‘animals that they cannot see in their own country.
- (People visit zoos) to observe (unusual) animals up close and learn about their
behaviour.
2- 'They' refers to “zoos".
3- Itis unnatural for wild animals to be kept in captivity.
- Zoos/They may be located in places where the climate is different from the
climate of the animal's country of origin.
Remarks from (1-3)
(N.B): - Information-between brackets iS-optional:
1- Each item from (1-3) is allotted 6 marks.
2- Overlook irrelevant information.
3- Overlook copying, spelling and grammar mistakes.

4- Any logical answer is accepted.
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Model answers from (4-5)

4- observe

5- locate(d)

Remarks from (4-5)

1- Each item from (4-5) is allotted 5 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.

Model answers from (6-7)

6- In China, after breeding the giant pandas in zoos, they are/ can be set free (to live)
in the wild again!

7- One of the arguments that supports zoos is that they protect rare animals/help to
protect animals which are endangered.
- Rare animals are bred in zoos to be saved from extinction.

Remarks from (6-7)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical answer.

3- Overlook copying, grammar and spelling mistakes, unless they distort the meaning
of the sentence. If so, his answer rates zero.

4- 1If the student refers to the wrong word and corrects it without rewriting the whole

sentence, his answer rates full marks.

e.g. endanger ——— protect/ help to protect
e.g. arekeptin captivity = ——are not kept in captivity

(N.B): - If the student writes only the correction without referring to the wrong word,

his answer rates 3 marks. (e.g. protect, are not)
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Group2 From 8-13
Model answers (8-9)

8- (c) / in the memory of Nobel's.death
9- (b) / will to offer a prize

Remarks from (8-9)

1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers for the same item, consider the first.

4- Overlook copying mistakes.

(N.B): No.9- If the student writes only the first word of the correct answer,

his answer rates full mark.

Model answers (10-11)

10- requested

11- armaments

Remarks from (10-11)

1- Each item-is-allotted'6- marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4-1f the student writes more than one answer for the same question, his answer rates
zero even if one of the answers is correct.

Model answers (12-13)

12 e, five languages (fluently).
TP many languages / more than one language.
13- e the peace prize / one prize (which is awarded in Oslo, Norway).

Remarks from (12-13)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.
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Group3 From 14-24

Model answers (14-16)

14- the

15- of

16- which / that

Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.
If so, the answer rates zero.

4- If the student'writes two ‘answersto the‘samerquestion; consider the first.

Model answers (17-20)

17- useful

18- produced

19- burn

20- turning

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)

21- Where did you go last year?
- When did you go to Mexico?
- What / Which country did you visit / go to last year?
- Have you ever visited a foreign country?
- Have you ever travelled abroad?
- Did you visit any foreign country?

Who(m) did you meet there?

What did you do there?

22

What was / is special about your trip?

Did you meet anyone special (there)?

23- Howdong have they been'married?

For how long have they been married?

How many years/have they been married ?
24-  (Answers vary)
Remarks from (21-24)
1- Each item is allotted 8 marks.
2- Deduct 2 marks for wrong question word/ word cluster
3- Deduct 2 marks for any grammar mistake provided that the total deduction

should not exceed 3 marks if the question still makes sense.

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns
4- If a student writes two questions for the same answer, consider the first.
5- Overlook capitalization and spelling mistakes.
6- If a student writes the correct question word only, his answer rates 2 marks.
7- Any other logical questions are accepted.
8- No.24: If the student mentions one word and his answer makes sense, his answer

rates full mark.
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Group4 From 25-33

Model answers (25-28)

25- (Different) items are sold inthe souks of Damascus (by Shopkeepers).
26- | wish | wasn't/weren't so shy/very shy about talking in public.

- | wish I wasn't / weren't.

- lwish | was / were (more) sociable.

27- They said they had taken their grandchildren on holiday.

28- They had / got this photograph of their family/it taken.

Remarks from (25-28)
1- Each item is allotted 8 marks.
2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks.
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Model answers (29-30)

29- ... (answers vary) — only past tenses are accepted.
30- ...... (answers vary) — > all tenses are accepted.

Remarks from (29-30)
1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically

correct.

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should

not exceed 3 marks if the completion makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct:rrmark provided thatithe total deduction.should not-exceed 3 marks
If the completion still makes sense.

5- Overlook punctuation marks:

6- Any logical completion is accepted.

7- The clause must contain a subject and a verb.

Model answers (31-33)

31- protect

32- inorder to

33- make up

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.

Qe A 10 50 590 Ada glna pudall g &y gt g il g o8 ¥ or o alal AN Aslatall 5 gall gald / aladl/ 4o 0SSy AL Bala
& A5 ¢ ? :




Groups From 34-38

Model answers (34-36)
34- plays
35- had broken / broke
36- was studying
Remarks from (34-36)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook spelling mistakes.
4- Complete (verb forms) are required, otherwise the answer rates zero.
5- Deduct 2 marks for a wrong verb form in multi-verb tenses.

(e.g. No.35 : had broke)
6- In case the'student writes two answers for the.same number, consider the first.
Model answer (37)

Ll algall G i e ) / ) sl coal G zladl) g &) -37
g sale - p)Sit 908
Galill [ 3/ kel 1y uall
Gy Jralall [ ass Al [ 4 sy ) 1 oe gl
o Gl [z hadu) rquall)
L) sall zaldd) algall

Remarks for (37)

1- The item is allotted 10 marks.

2- The statement is divided into 2 units. Each unit is allotted 5 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for a missing, or wrongly translated word provided that the
total deduction for the whole sentence shouldn't exceed 4 marks if it still
makes sense.

5- Any other logical translation is accepted.
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Model answer (38)
38- He left (the) court a free man / because he (had) proved he was innocent.

left: went out from

a free man: free

proved: showed

innocent: not guilty

Remarks for (38)

1- The item is allotted 8 marks.

2- The statement is divided into 2 units. Each unit is allotted 4 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake -if it gives rise to-a new meaning,
provided that the total deduction shouldn't exceed 4 marks if the sentence
still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make first
reading to the whole paragraph to figure out if it is relevant to the topic or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Deduct 1 mark from each field.
c- A paragraph, between s0-59 words rates (40 marks):
Deduct 2 marks from each field.
d- A paragraph between 40-49 words rates (35 marks).
Deduct 3 marks from each field.
e- A paragraph between 25 — 39 words rates (25marks).
Deduct 5 marks from each field.
f- A paragraph less than 25 words rates (20 marks).
Each field (V+C+S+G+TR) is allotted (4 marks).

N.B. - Overlook the first two spelling and grammar mistakes, then deduct
one mark for each mistake.

5- The following chart shows the distribution of the (50 marks):
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] 1- Read the following text then do the tasks

below:

Animals live everywhere on Earth, in every
terrain and in all climates. The place where an
animal lives is called its habitat and most animals
can only survive in one or two different habitats.
For example, lizards live in hot climates and
would die if they were moved to the Arctic. Some
animals migrate between two habitats at different
times of the year.

Kangaroos are marsupials, which means that
when young are born they are carried by their
mothers in a pouch. There are forty-five species
of kangaroos and they live in every kind of
habitat, from open plains to forests and rocky
deserts. Tree kangaroos live in remote and
mountainous forest regions and have adapted to
life in trees. Unlike other kangaroos, they cannot
move very fast on the ground.

The jerboa lives all over Asia and Northern
Africa. There are 25 different species of jerboa
and they are specially adapted to live in extremely
dry climates. They have very short front legs and
long back legs which enable them to hop quickly
over the ground to escape predators.

Answer the following questions: (18 marks)
1. What kind of climate do jerboas live in?

2. What is an "animal habitat"?

3. How are tree kangaroos different from -::ther
kangarous‘? y &
"he foll .'lll'il'.l g
(10 marks)
4. change to be better suited to a situation

Find words in the text whidl

S5.animals that kill and eat other @animals

Rewrite these sentences about the text to correct
the information: (12 marks)

6. Jerboas carry their young in a pouch.

7. Lizards would stay alive if they were moved
to the Arctic.

I1- Read the following text then do the tasks
below:

Recent scholarship suggests that by 2020, the
Internet will be a thriving, low-cost network of
billions of devices, accessible to anyone,
anywhere.

Some Internet professionals also predict that it
will provide a reality parallel to our own. Virtual
Reality will allow people to live, work and
interact with others in an electronic world, driven
by the Internet. Some fear, however, that Virtual
Reality will encourage people to opt out of human
society, creating a world of two halves, with
those in Virtual Reality losing touch with the real
world.

Today, designers and inventors are using the
Internet in increasingly innovative ways. Two

students at Keio University in Japan have recently |

produced the Internet Umbrella. The umbrella's
handle contains a projector that displays images
from the Internet onto the underside of the

umbrella's canopy. The umbrella is also fitted with|

a Global Positioning System that allows carriers to
find their way, wherever they are, while looking at
a three-dimensional map projected into the
umbrella above them.

Choose the correct answer a, b or ¢:

{12 marks)
8. The Global Positioning System in the
umbrella ----- their way wherever they are.

a- confuses people finding
b- prevents people from finding
¢- enables people to find
9. Living in a Virtual Reality makes people
their real world.
a- far from

atch of th

é- involved in
‘from the

b- close to

nud ‘War

text to.the dnﬂniﬁansfmennmgg below:
(12 marks)

10. something that can be reached or used
11. to-have-orhold within itself
| . ST PN .'._I

nm e text: iid {12 marks)
12. The projector in the Internet Umbrella
SshOWS .......... seassnan .

13. It is expected that the cost of the Internet in the
future will

-------------------------

S
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I1-

lete the following para h: ces
by filling in the gaps: (18 marks)

14. Tareq's instruments have become famous across
Syria the Arab world, and there is now

15. a great demand ----- these instruments. One of

16. Tareq's sons, Saleh, decided to follow ----- father
into the business.

VII- Complete the following sentences using

clauses: (14 marks)
29, She went to school although

30. If you broke the law, .

IV- Fill in the spaces with words from the list.

Use each word once only: (24 marks)
built, finally, Earth, study, solar
17. Galileo proved to the world that the ----- and the

18. other planets in our ----- system move around the
19. sun. To do this he --—- a telescope through which
20. he could ----- the stars, the sun and the moon.

VIII- Choose the correct wgrds in brackets:
(18 marks)
31. I'm good (at, with) maths, but I can't do
calculations very quickly.

32. Too much salt is bad for me, but I couldn't
(do up, do without) it altogether.

33. Nadia's letter was so difficult to read (so that,
because) she had written it quickly.

V- Complete the following dial writin

suitable questions or answers, Write at |
three words for each question: (32 marks)
21. Lama: . SIS TR U S ey
Rima: Our Ia.st hullday was Very exciting.
22. Lama: aW..... 5 ..... 400 ... 0. ... B 2
Rima: We went to Cairo,
3. Lamai@ BBl T

Rima: We arrived very late last night.
Lama: Why did you arrive late?
2. Rima: ......covvnrnvrninrsssnsranns

IX- Correct the verbs in brackets: (18 marks)

34. She (feel) tired because she has been travelling
for two days.

35. He (drive) nearly 1000 km by the time he
stopped for a break.

36. I (know) Ahmad since I was a child.

X- Translation:

Translate the following sentence into Arabic:
(10 marks)

37. All recycling processes require energy and
create some pollution.

Transla e following sentence into Engl

(8 marks)
Ul 261y S aydd Qe A AL Gl -

38.

| VI- Rewrite the following sentences as required
in brackets: _ (32 marks)

25. My rogm is ioe-small.
“(use "Iwish" .......) "
26. Fares did not take his tooth out himself;

(use the causative verb 'have')

27. Can I go out with my friends?
(report using "Hani asked his mother"...... )
28. Thousands of tourists visit historical monuments
in Damascus.

(make passive voice)

XI- Composition: (50 marks)
Write a ;gmﬂgtmn of no Iﬂ_ than EI] words on

. _.);_he fglMg tunlg

- "

Recommendations to solve the following problem:

"Wery few tourists come to your town because
they know nothing about it.”
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I- Groupi1: 1 -7
- Group2: 8 - 13
I11- Group 3: 14-24
IV- Group 4. 25-33
V- Group5: 34-38
VI- Group 6: composition
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Groupl From 1-7
Model answers: (1-3)

1- They live in (extremely) dry climates.
- They live in (extremely) hot/desert climates.
2- (An animal habitat / it is the place) where an animal lives.
3- Tree kangaroos (are different from other kangaroos in a way that they) can't
move (very) fast on the ground.
(N.B): - If the student writes "Tree kangaroos live in remote and mountainous forest
regions and have adapted to life in trees”, his answer rates 4 marks.
Remarks from (1-3)
(N.B): - Information between brackets is optional.
1- Each item from (1-3) is allotted 6 marks.
2- Overlook irrelevant information.
3- Overlook copying mistakes.
4- Deduct only 1 mark in case there is any kind of spelling or grammar mistake.
5- Any logical answer is accepted.
Model answers from (4-5)
4- adapt(ed)
5- predator(s)
Remarks from (4-5)
1- Each item from (4-5) is allotted 5 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.
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Model answers from (6-7)

6- Kangaroos / Marsupials carry their young / babies in a pouch.
- Kangaroos / Marsupials have a pouch in which they carry their young / babies.

- Jerboas don't have a pouch (to carry their young / babies).

7- Lizards would die if they were moved to the Arctic.
- Lizards would not stay alive if they were moved to the Arctic.
- Lizards would not live/ survive if they were moved to the Arctic.
- Lizards live in hot places / climate so they would die if they were moved to the
Acrctic.
Remarks from (6-7)
1- Each item is allotted 6 marks.
2- The above mentioned answers are accepted in addition to any logical answer.
3- Deduct 1 mark for each grammar and spelling mistakes. The total deduction
should not exceed 2 marks if the answer still makes sense.
4- Overlook copying mistakes and capitalization.
(N.B): - If the student writes only the correction, his answer rates 3 marks.

eg. No.6: Kangaroos / Marsupials.
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Group2 From 8-13
Model answers (8-9)
8- (c) / enables people to find
9- (a)/ far from
Remarks from (8-9)
1- Each item is allotted 6 marks.
2- Either the letter or the complete answer is accepted or both.
3- If the student writes two answers for the same item, consider the first.

4- Overlook copying mistakes.
(N.B): - If the student writes only the first word of the correct answer,
his answer rates full mark.

Model answers (10-11)

10- accessible

11- contain

Remarks from (10-11)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, his answer rates zero even if
one of them is correct.

Model answers (12-13)

12- ... images from the Internet (onto the underside of the umbrella's canopy).
ST a three — dimensional map.

13- be cheap / be inexpensive / be low / be cheaper / be less than today.
ST decrease / become cheaper than today.

Remarks from (12-13)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.
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Group3 From 14-24

Model answers (14-16)

14- and/in/as well as / in addition to / besides / plus

15- for/on/ of

16- his

Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.

If so, the answer rates zero.

4- If the student writes two answers for the same question, consider the first.
(N.B): No.14: - If the student writes " or ", his answer rates 3 marks.

Model answers (17-20)

17- Earth

18- solar

19- built

20- study

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)
21- How was your last holiday?
- What was your last holiday like?
- What about your last holiday?
- What can you say about your last holiday?
- What do you think / say about your last holiday?
- How did you find / spend your last holiday?

- How did you feel about your last holiday?

22-  Where did you go /travel / leave for?

- Which / What city did you go to / travel to / leave for?
- What was your destination in your last holiday?

- What did you do?

- Did you go to Aleppo or Cairo? N.B. (The student should write two choices).

23- When did you arrive?
- (At) What time did you arrive?

- Did you arrive late or early?  N.B. (The student should write two choices).

24-  (Answers vary)
Remarks from (21-24)
1- Each item is allotted 8 marks.
2- Deduct 2 marks for wrong question word/ word cluster
3- Deduct 2 marks for any grammar mistake provided that the total deduction

should not exceed 4 marks if the question still makes sense.

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns

4- If a student writes two questions for the same answer, consider the first.

5- Overlook capitalization and spelling mistakes.
6- If a student writes the correct question word only, his answer rates 2 marks.

7- Any logical question or answer related to the dialogue is accepted.
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Group4 From 25-33

Model answers (25-28)
25

I wish my room / it wasn't / weren't (so / too small).

I wish my room / it was / were large / larger / big / bigger.

I wish my room / it wouldn't be (so / too) small / would be larger / bigger.
26- Fares/ He had his tooth / it taken out.
27- Hani asked his mother if/whether he could go out with his friends.

28- Historical monuments in Damascus are visited by thousands of tourists.

Historical monuments are visited by thousands of tourists in Damascus.

In Damascus, historical monuments are visited by thousands of tourists.

Remarks from (25-28)

1- Each item is allotted 8 marks.

2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks.

(N.B): No0.26- If the student adds "himself" at the end of the correct answer,
deduct 2 marks.
(N.B): No0.28- The marks are distributed as follows:
2 marks for the object (historical monuments)
2 marks for verb to be (are)

2 marks for the past participle (visited)

2 marks for the agent (by thousands of tourists ).
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Model answers (29-30)

29- ...... past tenses

30-  ....... modals in the past

Remarks from (29-30)
1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically

correct.

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should

not exceed 3 marks if the completion still makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark provided that the total deduction should not exceed 2 marks
if the completion still makes sense.

5- Overlook punctuation marks.

6- Any logical completion is accepted.

7- The clause must contain a subject and a verb. If not, the answer rates zero.

8- (N.B): N0.30: - If the student uses the idiom (to face the music),

his answer rates full mark.

- The completion in the imperative form is accepted.

Model answers (31-33)

31- at

32- do without

33- because

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.
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Groups From 34-38
Model answers (34-36)

34- feels/is feeling / has felt

35- had driven / had been driving

36- have known / had known

Remarks from (34-36)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark.

4- Complete (verb forms) are required, otherwise the answer rates zero.

5- Deduct 2 marks for a wrong verb form in multi-verb tenses.
(e.g. N0.36 : has known / have know)

6- In case the student writes two answers for the same number, consider the first.
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Model answer (37)
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Remarks for (37)
1- The item is allotted 10 marks.
2- The statement is divided into 2 units. Each unit is allotted 5 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for:
- a missing or wrongly translated word
- a grammar mistake
- a spelling mistake if it gives rise to a new meaning,
provided that the total deduction shouldn't exceed 4 marks if the sentence

still makes sense.

5- Any other logical translation is accepted.
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Model answer (38)

38- The capital (city) of a country is often / the greatest city with the largest population.

- The capital (city) of a country is often / the greatest city and (it) contains the

largest population.

country: state

often: usually

greatest: largest / biggest

the largest population: the most populated / populous / inhabited

Remarks for (38)

1- The item is allotted 8 marks.

2- The sentence is divided into 2 units. The first unit is allotted 4 marks, and

the second is allotted 4 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for:
- a missing or wrongly translated word

- a grammar mistake
- a spelling mistake if it gives rise to a new meaning,
provided that the total deduction shouldn't exceed 3 marks if the sentence

still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Each field is allotted 9 marks.
c- A paragraph between 50-59 words rates (40 marks).
Each field is allotted 8 marks.
d- A paragraph between 40-49 words rates (35 marks).
Each field is allotted 7 marks.
e- a paragraph between 30-39 words rates (25 marks).
Each field is allotted 5 marks.
f- A paragraph between 20-29 words rates (20 marks)
Each field is allotted 4 marks.
g- A paragraph less than 20 words, give 5 marks for each correct relevant
sentence.
N.B. - Overlook the first two spelling and grammar mistakes; then
deduct one mark for each mistake.

- If the student describes a tourist site without mentioning any
recommendations / solutions to solve the problem, deduct 5 marks
from the field of task response and 5 marks from the field of
communication .

- If the student mentions one recommendation /solution only,
deduct 3 marks from task response and 3 marks from the field of
communication.

5- The following chart shows the distribution of the (50 marks):
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Communication

Spelling and
punctuation

Vocabulary

Grammar

Task response

outstanding
communication; clear,
coherent and well-
organised text with
complex language when
appropriate.

extremely accurate
spelling and
punctuation in simple
and complex language.

very wide range of
accurate and
appropriate vocabulary
required for the task.

very wide range of
accurate and
appropriate grammar
required for the task.

the task response is
comprehensive, relevant
and well-developed.

(10 marks)

(10 marks)

(10 marks)

(10 marks)

(10 marks)

meaning is clear and
easy to understand;
good organization.

good punctuation and
spelling; errors may
occur in complex
language.

a good range of
vocabulary; few errors
occur except in complex
vocabulary.

a good range of
grammar usage; few
errors occur except in
complex structures.

response is wholly
relevant but is partially
developed or not fully
exploited.

(9 marks)

(9 marks)

(9 marks)

(9 marks)

(9 marks)

overall meaning is
conveyed with some
errors but without
undue problems for the
reader

errors of punctuation
and spelling occur but
don't cause undue
problems for the reader.

adequate knowledge of
a range of the
vocabulary items
required to carry out the
task.

adequate knowledge of
a range of the grammar;
more accurate than
inaccurate.

largely relevant
response but without
much development or
with some irrelevance.

(8 marks)

(8 marks)

(8 marks)

(8 marks)

(8 marks)

meaning is only
conveyed with
significant effort on the
part of the reader.

errors of punctuation
and spelling create
problems for the reader.

some vocabulary
knowledge but frequent
errors or gaps mean
vocabulary is
insufficient for the task.

some grammar
knowledge but frequent
errors or gaps mean
grammar is insufficient
for the task.

some relevant response
to the task, though at
times the task appears
not to have been
understood.

(7 marks)

(7 marks)

(7 marks)

(7 marks)

(7 marks)

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

Zero

Zero

Zero

Zero

ZEero

N.B. Deduct 1 mark once for the same repeated mistakes.
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I- Groupi1: 1 -7
I1- Group2: 8 - 13
I111- Group 3: 14-24
IV- Group 4: 25-33
V- Group5: 34-38

VI- Group 6: composition
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Groupl From 1-7
Model answers: (1-3)

1- (The area/ Garrigues / It is suffering from the effects of depopulation such us)
poor public services and deserted farms.

- (It can lead to / cause) poor public services and deserted farms.
(N.B): - If the student writes only one item, his answer rates 3 marks.
- If the student writes "fewer people (in country areas)",

his answer rates 3 marks.

2- (Nowadays, Rich people in some European areas move from cities to
countryside) to escape from / because of overcrowding, pollution and stress of
city life.

(N.B): Each reason is allotted 2 marks.
3- (The area has) a Mediterranean climate, low winter temperatures and an annual
rainfall level 482mm and it was a successful agricultural area.
(N.B): Each characteristic is allotted 3 marks.
Remarks from (1-3)
(N.B): - Information between brackets is optional.
1- Each item from (1-3) is allotted 6 marks.
2- Overlook irrelevant information unless it exceeds one sentence. In this case, the
answer rates zero.
3- Overlook copying mistakes.
4- Deduct only 1 mark in case there is any kind of spelling or grammar mistake.
5- Any logical answer is accepted.
Model answers from (4-5)
4- rural
5- phenomenon
Remarks from(4-5)
1- Each item from (4-5) is allotted 5 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.
4- If the student writes two answers for the same item, consider the first.
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Model answers from (6-7)

6- Nowadays, most inhabitants in the villages of Garrigues are old / elderly people /
not young.
- Now some villages consist mainly of elderly people.

- Nowadays, less old / elderly people live in the villages of Garrigues.

7- As farming became / grew less (and less) profitable in Garrigues, many farmers
left to / for the city.
- As farming didn't improve in Garrigues, many farmers left to / for the city.
- As farming became less and less profitable, and unemployment grew, the

population began to move to the cities to find work.

Remarks from (6-7)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical answer.

3- Deduct 1 mark for each grammar and spelling mistakes. The total deduction
should not exceed 2 marks if the answer still makes sense.

4- Overlook copying mistakes and capitalization.

(N.B): - If the student writes only the correction, his answer rates 3 marks.

4 La A 1 3 ) 50 Ada glaa podall g gl g ) (3 g8a Yo alad A0 Adlaia¥) 3 gl pald / palall/ 4 3.0S5Y) ALl Bala

(rrrrrrprrrprrprrrrperrperrpereereerrereerepereerererererererererer iy e eelrererelrer el ere el el e el el e i el el el e rrprgryrrrrrrrrrrrrrrerl

Lt er et ererrerrerrerrerererrererrererrereerrerrerrerrerrerererererepreprerrereprrerrerrerreireirt




(rrrrrrrprrrrrrrperrrrrpereereperrerrereereerrrrrrrrrrrrrrrrrrrrrrrrrerererererererererererererererererererererereelrererererererery

rrepptprepprperprpepepepeeprprrprtprtprtprtrtpebtpetpprppprrrrrrerrrrrrrerererrrerrerrerreereht

Group?2 From 8-13

Model answers (8-9)

8- (b) / do not affect

9- (a) / low gravity on humans
Remarks from (8-9)
1- Each item is allotted 6 marks.
2- Either the letter or the complete answer is accepted or both.
3- If the student writes two answers for the same item, consider the first.

4- Overlook copying mistakes.
(N.B): - If the student writes only the first word of the correct answer,
his answer rates full mark.
Model answers (10-11)
10- provide
11-combustion
Remarks from (10-11)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.
4- If the student writes two answers for the same item, his.answer rates zero even if
one of them is correct.
Model answers (12-13)
12-...... (one or more of) the conditions found in space.
ST microgravity.
13- e, study how long periods in space.affect the body.

Remarks from (12-13)
1- Each item;is_ allotted 6 marks.

2- The above mentioned answers are accepted in-additiontoany logical
completion related to the text.
3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.
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Group3 From 14-24

Model answers (14-16)

14-an /the / one
15-who / that
16-in/ inside / at

Remarks from (14-16)

1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.
If so, the answer rates zero.

4- If the student writes two answers for the same question, consider the first.

(N.B): No.14: - If the student writes "a very / the most", his answer rates 4 marks.
Model answers (17-20)
17- best
18- home
19- mind
20- prove
Remarks from (17-20)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying-mistakes-and capitalization.
4- If a student writes two answers in one space, his answer rates zero.
5- Repeating the-same-answer more than-once rates zero, even-if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)
21- When did you go to Aleppo?
- Where did you go at the weekend?
- What did you do at the weekend?
- Who went to Aleppo at the weekend?
- Did you go to Aleppo or Homs / ...... at the weekend?
22- Did you enjoy your visit / trip / journey?
- Did you enjoy (your) going there?
- Was it a good visit / trip / journey?
- Were you happy (in the visit / trip / journey)?
23-Who(m) did you meet there?
- What did you do there?
- Did you meet anyone there?
24- (Answers vary)
Remarks from (21-24)
1- Each item is allotted 8 marks.
2- Deduct 2 marks for wrong question word/ word cluster
3- Deduct 2 marks for any grammar mistake provided that the total deduction

should not exceed 4 marks if the question still makes sense.

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns

4- If a student writes two questions for the same answer, consider the first.

5- Overlook capitalization and-spelling. mistakes.
6- If the student writes the correct question word only, his answer rates 2 marks.

7- Any logical question or/answer related to the dialogue is accepted.
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Group4 From 25-33

Model answers (25-28)
25- | wish the streets / they weren't (very dirty).
- | wish the streets / they were cleaner / clean.
- | wish they would clean the streets / them.
- I wish the streets / they would be cleaner / clean.
26- Birds' nests / their nests / nests are (often) built at the top of trees.
(N.B): - If the student doesn't write "at the top of trees ", deduct 2 marks.
27- He asked me if | studied in a college.
28- My brother / He didn't have his own hair / it cut.

Remarks from (25-28)

1- Each item is allotted 8 marks.

2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks.

(N.B): No.26- The marks are distributed as follows:
2 marks for the object (nests)
2 marks for verb to be (are)

2 marks for the past participle (built)

The agent (by birds ) is optional .
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Model answers (29-30)

29-....... (Answers vary)
30- ....... (Answers vary)

Remarks from (29-30)

1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically
correct.

3- Deduct 1 mark for any grammar mistake, provided that the total deduction should

not exceed 3 marks if the completion still makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark provided that the total deduction should not exceed 2 marks
if the completion still makes sense.

5- Overlook punctuation marks.

6- Any logical completion is accepted.

7- The clause must-contain a subject and a verb. If not, the answer rates zero.

Model answers (31-33)
31-do
32- peaceful
33-for
Remarks from (31-33)
1- Each itemis allotted 6 marks.
2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.
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Group5 From 34-38
Model answers (34-36)

34-graduates / has graduated
35- has worked / has been working
36-was looking for
Remarks from (34-36)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark.
4- Complete (verb forms) are required, otherwise the answer rates zero.

5- Deduct 2 marks for a wrong verb form in multi-verb tenses.

(e.g9. N0.35: has work / has been worked )

6- In case the student writes two answers for the same number, consider the first.
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Model answer (37)
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Remarks for (37)
1- The item is allotted 10 marks.

2- The sentence is divided into 3 units. The first unit is allotted 4 marks.

The second and third units are allotted 3 marks each.

3- Each unit is treated separately.

4- Deduct 1 mark for:
- a missing or wrongly translated word
- a grammar mistake
- a spelling mistake if it gives rise to a new meaning,
provided-that the total deduction shouldn't exceed 4 marks if the sentence

still makessense:

5- Any other logical translation is accepted.
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Model answer (38)

38- Scientists found a new way / to recycle rubbish.

found: came up with / found out / discovered / created

new: modern / different

way: method

rubbish: the waste / the garbage

Remarks for (38)

1- The item is allotted 8 marks.

2- The sentence is divided into 2 units. The first unit is allotted 5 marks.

The second unit is allotted 3 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for:
- a missing or wrongly translated word

- a grammar mistake
- a spelling mistake if it gives rise to a new meaning,
provided that the total deduction shouldn't exceed 3 marks if the sentence

still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Each field is allotted 9 marks.
c- A paragraph between 50-59 words rates (40 marks).
Each field is allotted 8 marks.
d- A paragraph between 40-49 words rates (35 marks).
Each field is allotted 7 marks.
e- a paragraph between 30-39 words rates (25 marks).
Each field is allotted 5 marks.
f- A paragraph between 20-29 words rates (20 marks)
Each field is allotted 4 marks.
g- A paragraph less than 20 words, give 5 marks for each correct relevant
sentence.
N.B. - Overlook the first two spelling and grammar mistakes; then
deduct one mark for each mistake.

- The student should mention at least two advantages and two
disadvantagesof-using.computers. If-not, deduct’2 marks for each
missing item.

- If 'the student writes'about the advantages'and-disadvantages of
modern technology without mentioning computers, deduct 5 marks
from task response.

5- The following chart shows the distribution of the (50 marks):
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Communication

Spelling and
punctuation

Vocabulary

Grammar

Task response

outstanding
communication; clear,
coherent and well-
organised text with
complex language when
appropriate.

extremely accurate
spelling and
punctuation in simple
and complex language.

very wide range of
accurate and
appropriate vocabulary
required for the task.

very wide range of
accurate and
appropriate grammar
required for the task.

the task response is
comprehensive, relevant
and well-developed.

(10 marks)

(10 marks)

(10 marks)

(10 marks)

(10 marks)

meaning is clear and
easy to understand;
good organization.

good punctuation and
spelling; errors may
occur in complex
language.

a good range of
vocabulary; few errors
occur except in complex
vocabulary.

a good range of
grammar usage; few
errors occur except in
complex structures.

response is wholly
relevant but is partially
developed or not fully
exploited.

(9 marks)

(9 marks)

(9 marks)

(9 marks)

(9 marks)

overall meaning is
conveyed with some
errors but without
undue problems for the
reader

errors of punctuation
and spelling occur but
don't cause undue
problems for the reader.

adequate knowledge of
a range of the
vocabulary items
required to carry out the
task.

adequate knowledge of
a range of the grammar;
more accurate than
inaccurate.

largely relevant
response but without
much development or
with some irrelevance.

(8 marks)

(8 marks)

(8 marks)

(8 marks)

(8 marks)

meaning is only
conveyed with
significant effort on the
part of the reader.

errors of punctuation
and spelling create
problems for the reader.

some vocabulary
knowledge but frequent
errors or gaps mean
vocabulary is
insufficient for the task.

some grammar
knowledge but frequent
errors or gaps mean
grammar is.insufficient
for the task.

some relevant response
to the task, though at
times the task appears
not to have been
understood.

(7 marks)

(7 marks)

(7 marks)

(7 marks)

(7 marks)

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

Zero

Zero

Zero

Zero

ZEero

N.B. Deduct 1 mark once for the same repeated mistakes.
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I- Read the foliowing text then do the tasks , II- Read the following text then do the tasks
below: below:
The law related to computer crime is changing | Nobel was very interested in literature and
very quickly. Modern criminals are using peace-related issues. He held views that were
computers to help them commit crimes like considered radical for his time. In 1867, he

identity theft and to make it easier to commitold | fe¢€ived a patent for dynamite. About 1875 he
crimes like theft or fraud. One issue that makes it RIRE R 0 <rful explosive called blasting
hard to fight computegie is MREBP Y Dc.a8 gelatin. In all, Nobel held more than 100 patents.
offence is often mord GitculdEve (han The incorrect publication in 1888 of a premature

traditional crimes because the criminals are OhilCRREi N & French nowspapes;

scriiiblesnd e ) be BN condemning him for his invention of dynamite, is
invisible and teIFRENOns S be NANRE0 Prove. | caid to Mile brought about his decision to leave a

In recent years computer crime has increased. | ‘better legacy after his death. Alfred Nobel made
as the number of people using the Internet to buy | his last will in Paris. When it was opened and read
things or to access their bank accounts has grown. | after his death, the will caused a lot of local and
This new type of business has attracted techno- international controversy, as Nobel had left much
criminals who order goods without paying, or of his wealth for the establishment of a prize! His
break into the computer systems of businesses fa]?ﬁly oppgsedithe establishment of the Nobe!
and move money to their own account or send Prize, Andgggcofic asked to awa_ird E.hﬂ o

; : ; refused to do what he had requested in his will.

viruses which can seriously damage computers
and the information they contain. In his last will and testament, Alfred Nobel
specifically designated the institutions responsible
for the prizes he wished to be established.
Choose the correct answer a, b or ¢:

(12 marks)
8. The incorrect publication of Nobel's death

Criminals can use the Internet to plan crimes
and pass on confidential information more easily
than meetings or telephone conversations.
Computers allow criminals access to millions of

people whom they may persuade to pay for caused him fo make his decision {0 =-«-=-- .
something worthless. a- neglect peace-related issues
Answer the following guestions: (18 marks) b- establish his own prize

¢- refuse any medal

1. WS cofgputgiicringy increasiyl regintl 9. The institutions responsible for awarding the

2. How can viruses affect computers? Nobel Prize were determined by -------.
o : a- the Swedish government
3. ;\W:Sqmay computer criminals convince people b- members of Nobel's family
0 € ¢- Nobel himself
Find words in the text which mean the following:
(10 marks) Match two of the underlmed wurds from the
5.to show that somethin c i e about something
Rewrite these sentencell he yith or involving two or more countries

the information:

lowing sentences with information

12 marks
6. The Internet pre ( )

on information more easily. " 12. When Nobel's will was opened and read, his

7. Computer criminals can't be seen which makes

it easier to solve computer crimes. 13. In his life, Nobel had a great interest in ........... .
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111 Complete the following paragraph by filling

in the gaps: (18 marks)
14. Information about climate can ----- useful for
15. weather forecasting ----- it helps farmers to

16. know when it is -~--- best time to plant crops.

VII- Complete the following sentences using
clauses: (14 marks)

29. Omar is very nervous because ................. :

30. When I was a child,

---------------------------------

IV-Fill in the spaces with words from the li

Use each word once only: (24 marks)
waste, allowed, higher, selling, laboratory
17. Edison's first job was —--- newspapers.on a train.
18. He didn't want to ---— his time between stations,
19. s0 he set up a moving ----- on a train. One day a

20. fire broke out and Tom was not ~=--- to work on
the train any more.

VIII- Choose the correct words in brackets:

(18 marks)
3%: Ahmed went to the airport (so that, in order to)
meet his friend.

32. It would be awful if our car (ran out of, ran
into) petrol,

33. Pvc'(mude, done) myself a promise to wark
hard for the exam.

V- Complete the following dialogue by writing
suitable questions or answers, Write at least

three words for each guestion: (32 marks)
21 LAMAL et ?
Rana: Damascus is located in the south west 6f
Syria.
Rl LMY o it e S s e 7

Rana: Thousands of touristsvisit it EVery year.
LI BB viiiiiinivniiniinsimme s el y..... .. ?
Rana: They visit Syria to explore its ities.

Lama: What is Damascus famous for?

IX- Correet the verbs in brackets: (18 marks)
34. The police (stop) vou if you drove too fast,

35. He looks very tired. He (play) football ali
morming.

36. The scientists (discuss) new ways of saving
energy at the moment.

X- Translation:
Aranslate the following sentence into Arabic:
(10 marks)

37. Astronauts do research to study how lorig
périods in space affect the human body.

Translate the following sentence into English:
(8 marks)

in brackets; (32 marks)

25. He is not going to take his tooth out himself.
(use the causative verb 'have'
26. Skilled enginéers buill '
{make passive vo

r . d lr')
28. [ can't sing

(use "I wish" ........)

8. e . . - 1.1; i i ||.u ..' _
E T rerrrerrererrrr—— i D B
VI- Rewrite the following sentences as regﬁired- X1- Composition: (S0 marks)

Write a comiposition of no less than 80 words on
the following topic:

END OF EXAM
..-] ;ﬁ i 43
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Groupl From 1-7
Model answers: (1-3)

1- (Computer crime has increased recently as / because / since) the number of

people using the Internet (to buy things or to access their bank accounts) has
grown / increased / become more.
2- Viruses / They (can seriously) damage / destroy computers and the information
they contain.
- Viruses / They (can seriously) damage / destroy computers.
- Viruses / They (can) damage / destroy the information.
- By damaging / destroying computers / the information (the computers contain).
3- (They may convince / persuade them) to pay for something worthless.
(N.B): If the student only writes:
No. 2 "damaging /damage/ destroying / destroy ", his answer rates 3 marks.
No.3 "to pay for / buy something / goods ", his answer rates 3 marks.
Remarks from (1-3)
(N.B): - Information between brackets is optional.
1- Each item is allotted 6 marks.
2- Overlook irrelevant information unless it exceeds one sentence. If so, the
answer rates zero.
3- Deduct only 1 mark for the whole sentence in case there is any kind of
copying, spelling or grammar mistake.
4- Any logical answer related to the text is accepted.
Model answers from (4-5)
4- fraud
5- prove

Remarks from (4-5)

1- Each item is allotted 5 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, consider the first.
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Model answers from (6-7)

6- The Internet allows / helps / enables / permits computer criminals to pass on
information more easily.
- The Internet makes / lets computer criminals pass on information more easily.
- Computer criminals use the Internet to pass on information easily / to commit
crimes.
N.B. If the student writes the sentence using the negative form, his answer

rates 3 marks. (The Internet doesn't prevent computer criminals to pass on

information more easily).
7- Computer criminals can't be seen / are invisible which makes it (more) difficult /
hard / harder to solve computer crimes.
- Computer criminals can't be seen / are invisible which makes it easy / easier to
commit computer crimes.

N.B. If the student writes the sentence using the negative form, his answer

rates 3 marks. (Computer criminals can't be seen / are invisible which

doesn't make it easy / easier to solve computer crimes).

Remarks from (6-7)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical answer.

3- Deduct 1 mark for each grammar or spelling mistake. The total deduction should
not exceed 3 marks if the answer still makes sense.

4- Overlook copying mistakes and capitalization.

5- If the student writes only the correction without rewriting the whole sentence, his
answer rates 3 marks.

6- Any logical answer related to the text is accepted.
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Group 2 From 8-13

Model answers (8-9)
8- b/ establish his own prize
9- ¢/ Nobel himself
Remarks from (8-9)
1- Each item is allotted 6 marks.
2- Either the letter or the complete answer is accepted or both.
3- If the student writes two answers for the same item, consider the first.
4- Overlook copying mistakes.
(N.B): - If the student writes only the first word of the correct answer,
his answer rates full mark.
Model answers (10-11)
10- views
11- international
Remarks from (10-11)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.
4- If the student writes two answers for the same item, his answer rates zero even if
one of them is correct.
Model answers (12-13)
12- ... opposed (the establishment of the Nobel Prize / it).
T refused / rejected / didn't accept / didn't agree / disagreed (to do what
he had requested in his will).
13- literature and peace-related issues.

(N.B) If the student writes one item, e.g. " literature " / "peace related issues", his answer
rates 3 marks.

Remarks from (12-13)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.
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Group 3 From 14-24

Model answers (14-16)

14- be

15- Dbecause / since / as / for / and / so

16- the

Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.
If so, the answer rates zero.

4- If the student writes two answers for the same question, consider the first.

Model answers (17-20)

17- selling

18- waste

19- laboratory

20- allowed

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)
21- Where is Damascus (located / situated / placed)?
- Where / What is the location of Damascus?
- What / Which place / is Damascus located in?
- Which / What city is located in the south west of Syria?
- Is Damascus in the south or in the north / east / west of Syria?

22- How many tourists (do) visit Damascus / it every year?

How often do tourists visit Damascus / Syria / it?

What is the number of tourists who visit Damascus (every year)?

Who visits Damascus / it every year?
23- Why do they visit Syria?

- What do they visit Syria for?

- What do they want to explore?

- What is the purpose of / reason of / for their visit?

- What attracts tourists / them in Syria?
- What makes tourists / them interested in visiting Syria?
- What makes them visit Syria?
24-  (Answers vary)
Remarks from (21-24)
1- Each item is allotted 8 marks.
2- Deduct 3 marks for wrong question word/ word cluster
3- Deduct 2 marks for any grammar mistake provided that the total deduction

should not exceed 4 marks if the question still makes sense.

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns

4- If the student writes two questions for the same answer, consider the first.

5- Overlook capitalization and spelling mistakes.
6- If the student writes the correct question word only, his answer rates 3 marks.

7- Any logical question or answer related to the dialogue is accepted.
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Group 4 From 25-33

Model answers (25-28)
25- He is going to have his tooth / it taken (out).
(N.B) - If the student adds "himself" at the end of the correct answer,
deduct 2 marks.
- The marks are distributed as follows:

2 marks for the subject —» He

2 marks forhave s going to have

2 marks for the object — histooth /it

2 marks for the past participle — taken (out)

(N.B) - If the student writes only one item, his answer rates zero.

26- The bridge was built in 1990 (by skilled engineers).
- The bridge was built by skilled engineers (in 1990).

(N.B) - The marks are distributed as follows:

2 marks for the object __, the bridge
2 marks for verb to be —» was

2 marks for the past participle —, built

2 marks for time phrase or agent —» in 1990 / skilled engineers

(N.B) - If the student writes only one item, his answer rates zero.
27- She asked her friend if / whether she / he had been to Palmyra before.
28- 1 wish | could (sing well).

- l'wish I could / would be a singer.

- lwish I was / were a singer.

- I'wish I sang well.

Remarks from (25-28)
1- Each item is allotted 8 marks.

2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks if the sentence still makes sense.

8 e A ) 31 5 90 Ada glaa podall g gl g ) (3 ga YAV alad 36N Aulaiayl 8 eally gald / alall/ 4 iy ARl Bala

(rrrrrrrprrrrrrpprrrrrrperrerrperrperrereereerrrrrrrrrrrrrrrrrprrerrrrrrrerererererererererererererererererererperereelrererererererey

(rrrrrrprrrprrprrrprperrperrrpereereerrereerrpereererererererererereer e e e e e el el el ere e el e e el e prrlr el el e rrpr gy rrrrrrrrrrrrrerl

Lttt ererrererrerrerrererrererrererrereererrerrererererrreprerepreprerrrererrrerrerrrerreireint




(rrrrrrrprrrrrrpprrrrrrperrerrperrperrereereerrrrrrrrrrrrrrrrrprrerrrrrrrerererererererererererererererererererperereelrererererererey

Lttt e rerrrerrreerrreerrrerrrerrrerreriperrrerrrrrrerrrrrerrrreeeerrrenes

Model answers (29-30)

29- ... (answers vary) all tenses except past perfect
(N.B) The past perfect can be accepted in case a student writes two past actions in
his clause.

30- ....... (answers vary) all past tenses

Remarks from (29-30)
1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically

correct.

3- Deduct 2 marks for any grammar mistake, provided that the total deduction should

not exceed 4 marks if the completion still makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark provided that the total deduction should not exceed

3 marks if the completion still makes sense.
5- Overlook punctuation marks.
6- Any logical completion is accepted.

7- The clause must contain a subject and a verb. If not, the answer rates zero.

Model answers (31-33)

31- inorderto

32- ran out of

33- made

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes.

4- Two answers for the same number rates zero

9ue A ) 31 5 90 Ada glaa podall g gl g ) (3 ga YAV alad 36N Aulaiayl 8 eally gald / alall/ 4 iy ARl Bala

(rrrrrrprrrprrprrrprperrperrrpereereerrereerrpereererererererererereer e e e e e el el el ere e el e e el e prrlr el el e rrpr gy rrrrrrrrrrrrrerl

Lttt ererrererrerrerrererrererrererrereererrerrererererrreprerepreprerrrererrrerrerrrerreireint




(rrrrrrrprrrrrrpprrrrrrperrerrperrperrereereerrrrrrrrrrrrrrrrrprrerrrrrrrerererererererererererererererererererperereelrererererererey

Lttt e rerrrerrreerrreerrrerrrerrrerreriperrrerrrrrrerrrrrerrrreeeerrrenes

Group 5 From 34-38

Model answers (34-36)
34- would / could / might / should stop
35- has been playing / has played / must have played / must have been playing
N.B If the student writes "have" instead of "has" or writes "has" instead of
"have", deduct 2 marks.
36- are discussing / could / might / must be discussing
N.B If the student writes "am / is" instead of "are", deduct 2 marks.
Remarks from (34-36)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark.
e.g. (been —— bee)/ (could —— cold)

7- In case the student writes two answers for the same number, consider the first.
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Model answer (37)
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Remarks for (37)

1- The item is allotted 10 marks.

2- The statement is divided into 2 units. Each unit is allotted 5 marks.
3- Each unit is treated separately.

4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake if it gives rise to a new meaning,

provided that the total deduction shouldn't exceed 4 marks if the sentence
still makes sense.

5- Any other logical translation is accepted.
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Model answer (38)

38- Building factories outside cities / reduces pollution (there / in them).

Building: Constructing / Establishing / Founding / The construction of

factories: plants

cities: the city

reduces: lessens / decreases / makes less / causes less / leads to less

Remarks for (38)
1- The item is allotted 8 marks.
2- The sentence is divided into 2 units. Each unit is allotted 4 marks.

3- Each unit is treated separately.
4- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake
- a spelling mistake if it gives rise to a new meaning, provided that the total

deduction shouldn't exceed 4 marks if the sentence still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Each field is allotted 9 marks.
c- A paragraph between 50-59 words rates (40 marks).
Each field is allotted 8 marks.
d- A paragraph between 40-49 words rates (35 marks).
Each field is allotted 7 marks.
e- a paragraph between 30-39 words rates (25 marks).
Each field is allotted 5 marks.
f- A paragraph between 20-29 words rates (20 marks)

Each field is allotted 4 marks.
N.B. - Overlook the first two spelling mistakes and the first grammar
mistake; then deduct one mark for each mistake.

- Overlook the first two wrong or missing punctuation marks or wrong
capitalization; then deduct one mark for each mistake.

- If the student describes a visit to a place or a tourist site and gives a clear
description of a building in that place, his composition rates full mark.

- If the student mentions a visit to a place or a tourist site and gives
some description of a building in that place, deduct 3 marks from
each category.

- If the student describes a visit to a place or a tourist site without
mentioning any description of a building, his composition rates zero.

- If the student writes less than 20 words, give 5 marks for each
correct relevant sentence.

5- The following chart shows the distribution of the (50 marks):
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Communication

Spelling and
punctuation

Vocabulary

Grammar

Task response

outstanding
communication; clear,
coherent and well-
organised text with
complex language when
appropriate.

extremely accurate
spelling and
punctuation in simple
and complex language.

very wide range of
accurate and
appropriate vocabulary
required for the task.

very wide range of
accurate and
appropriate grammar
required for the task.

the task response is
comprehensive, relevant
and well-developed.

(10 marks)

(10 marks)

(10 marks)

(10 marks)

(10 marks)

meaning is clear and
easy to understand;
good organization.

good punctuation and
spelling; errors may
occur in complex
language.

a good range of
vocabulary; few errors
occur except in complex
vocabulary.

a good range of
grammar usage; few
errors occur except in
complex structures.

response is wholly
relevant but is partially
developed or not fully
exploited.

(9 marks)

(9 marks)

(9 marks)

(9 marks)

(9 marks)

overall meaning is
conveyed with some
errors but without
undue problems for the
reader

errors of punctuation
and spelling occur but
don't cause undue
problems for the reader.

adequate knowledge of
a range of the
vocabulary items
required to carry out the
task.

adequate knowledge of
a range of the grammar;
more accurate than
inaccurate.

largely relevant
response but without
much development or
with some irrelevance.

(8 marks)

(8 marks)

(8 marks)

(8 marks)

(8 marks)

meaning is only
conveyed with
significant effort on the
part of the reader.

errors of punctuation
and spelling create
problems for the reader.

some vocabulary
knowledge but frequent
errors or gaps mean
vocabulary is
insufficient for the task.

some grammar
knowledge but frequent
errors or gaps mean
grammar is insufficient
for the task.

some relevant response
to the task, though at
times the task appears
not to have been
understood.

(7 marks)

(7 marks)

(7 marks)

(7 marks)

(7 marks)

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

Zero

Zero

Zero

Zero

Zero

N.B. Deduct 1 mark once for the same repeated mistakes.
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I- Read the follawin text then do the tasks [I- Read the followjng text then do the tasks
] below:

below:

In 1953, Edmund Hillary became the first Chemically speaking, caffeine was first
Person to reach the summit of Mount Everest, the | extracted from plants in its pure form in 1820,
highest mountain in the world, Hillary, from New ' But now, it can be made in the laboratory.
Zealand, and his Nepalese climbing compan ion, | Cafleine is an adourless, slightly hirter solid.

Tenzing Norgay were partof the 9 [ritish } When caffeine is removed from the source plant
expedition to attempt 10 reach the summir. | and feduced to its purest state, it forms a white

owier, This powdered form of cafieine is very
The team had to avercome extreme cold, 4 3 5

y Sty . bitter, that is why many drinks containing caffeine
Strong winds, dizzying heights and dangerously also contain lots of sugar or other swerteners,

Cafleine is used as u stimulan| of the hean and

low levels of ux¥gen. Temperatures were below

freczing point and they were al-constant risk of Nervous system in certain disorders. Caffeine may
getling trostbite. The two men did not hitve the not be addictive in the classic sense, but the body
same sopthisticated equipment that is tised today, | does build up a olerance over time, Some people
and the extremely high altiwde could have caused | find it difficult 1o function without at least one |

serious medical problems. cup of strong coflee or leg in the morning, The
: ' sumulating effecls of cafleine are caused by a
They made it ta the top where they 100k the E. A o
biotosranh 51 o K s :I S central nervous reaction, The heart riate ncreases,
photograph that proved they had reached the blood vessels expand and the brain recejves more
| highest point on carth.

oxygen. This effect can lasi up 1o an hour.
Hillary was 3 hom explorer and conquering | Caffeine i3 g stimulant found in many plam
Everest was the first in a series of achievements. | species. The most common natural snurces of
Hillary attributed his suceess to the whole team | cafleine are colle, tea and cocoa.

who supported him. He later established the
Himalayan Trust, an organisation committed to
helping the Nepalese Sherpa communities. The
trust has helped to build hospitals and schools.

| Choose the correct answer 2. bore;
(12 marks)
8. CafTeine which is taken from plants is a litthe -
a- bitter liquid without a smell

—

| Answer the following questions: (18 marks) b- sweet solid with a smell
L. Mention three difficultics the team had 1o & hitter solid without a smelj -
avercome in the expedition. | 9. Caffeine affects the human body by making --— |
; ; ; - the brain get less oxygen
- fimalay SChelp il e ;
o M I]I-J": i Tm}ﬂn lrl'-l . i A b- the blood vessels become greater [n size
Nepalese Sherpa communities?
i e- the heart rate decrease

3. Who did Hillary atribute his success 107

Find words in the text which mean the followine: text to the definitions/meanings helow:
(10 marks) (12 marks)
4. height ‘ I0. can't stop taking or using something |

Maitch two of the underlined words from the

|11, a substance thar ENCOUrages someone ta be
more alert and excited

' Rewrite these sentences about the fext to correct Complete the following sentences with information
| the information: {12 marks) from the text: (12 marks)

| S.staying the same / not changing

6. When Hillary and Tenzing reached the summit, | 12. Caffeine can be found in many plant species
they recorded a video.

BUCRY RS ivseacminias i e st s sme s Sl .
7. Before Hillary, u tot of people reached the 1X. Caffeine is not only extracted from plants
L summit of Mount Everest. (., 5 [ — s

-



nting. | fowever,

16. there ——— hepn some effors 1o save these

animaly,

V- Fill in the apaces with words from the lisg, s
Use each word bnge only: (24 Mmarks)

behind, everything, brigh
17. Louis Pasteyr Was g -

 RNErY, reason
hoy, althoupl

as slow and slways
19, the rest of his class, The oo

18_ his teachers said he w

for this was simple:

[ |

e e i o R
ing dialo 1e by writi
suitable questions Or answery, Write at least
three words for each question: (32 marky)

.......................................................... 7
: "Law" js a set of rules,

23. Anas: .

Nidal: Poljce and jud

2es make sure that pe

ople

obey the law,
Anas: What would happen
24, Nidal:
VI- Rewrite the following sentences a3 required
in brackets: (32 marks)

25. Elephants have changed the natural environmen.

if there were no laws?

(make passive voice)
26. Traveling by plane is expensive.
(use "I wish" e |

:7. "What is your favourite hobby 7"

|
|

3. Whenever ECon holidsy, ..
VIil-

——

— B
I1X- Correct the verbs in brackets:

36, We (live) in the same house singe 2010,
_— 0 - Eakisels

Translate the following sentence

29. She hag Prepared lunch be fppe

hoose the ¢ W

3. He didn't wy

b T 10 swim, but he cha
(music, (upe

) when he

33. In my City, the coune

il is (going along with,
unning out of) Space

for new houses,
(1B marks)

M. I my sister Braduartes soon, she {2et) a new job,

35, While she (play) tennis, she hurt her ankle.

S
X- Translation:
~[Iansiation:

inte Arabic:

(10 marks)

37. Recycled Paper is nol as Slrong as paper made

from wood pulp.

Translate the fglluwing sentence into English:

(8 marks)
3B, .2l yal (On ki aal Ay )l oo aan
X1- Composition: (50 marks)

Write a composition of no less than 80 words on
the followinp topic:

" A report to the council in your town or city

makinp recommendations about where 10 build

it houses."
(report using "He asked me ) - -
‘8. My brother didn't paint the room himself
(use the causative verb 'have')
{
END OF EXAM
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I- Groupl: 1 -7

II- Group2: 8- 13

LI- Group 3: 14-24

1V- Group 4: 25-33

V- Groups: 34-38

VI- Group 6: composition
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Groupl F "
;'I'll]-dﬂl answers: {I-]-] I] l"l’ﬂm I ?

I+ The team | s
¢ team had to overcome extreme cold, strong wins, tizeying heyphuy

level T '
of oxygen, serious medical problems, risk of petting hosthite and 1

didi't have 1he same so histicated equi i
(N.B): Each item is altnl:c:! 2 mark:.q“mmm“ . =

2- It/ The Himalayan Trust belped (to) build hespitals and schoots.
- It/ The Himalayan Trust biclped (o) build hospitals / scheots.

3- (He / Hiltary attributed his success) to the (whole) team (who supporied

Remarks from (1-3)

(N.B): - Information between brackets is optional,

1= Each item is allotted 6 marks.

2- Overlook irrclevant information unless it exceeds one sentence. If so. the
ANSWEr rates zero.

3- Deduct only T mark for the whole sentence in case there is any kind of
copying, spelling or grammar mistake.

4- Any logical answer related to the 1ext is accepted.

Model answers from (4-5)

4- alttude

5- constant
Remarks from (4-5)

1- Each item is allotted 5 marks.
2- Only the above mentioned answers arc accepted.

3. Overlook copying mistakes and capitalization.
4- If the student writes fwo answers for the same item, cansider the first,

e il 515 A ghas glblly 2es80) R S8

e AT =TT i 5!
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6= When / Afe T
I i iy .
Rer 10 WY and Tenzing renehe e summii, they o) A phuta

the top where thiey took
reached the hiphest

1 _ {ra
= They made i g

the photogeraply thay Proved they

pamt an enh,

Hp = 5 . war
B. 1l the student writes (e semence usimg the nepative T, bos s

rates yero.,

1- Before Hilkry, no one reached the summit of Mount Everest

Hillary was the fiest person
= Aldter Hillary
N.B. 1T the

b reach the summit of Moumn Lverest
salotof / many Peaple reached the summit of Mot Lvere

student writes the senfence using the negative Torn, his answer

rales 2ero.
Remarks from (6.7)

I+ Each ttem is allotted 6 marks.

2- The above mentiened answers are accepted in addition to any togical answe

3- Deduct 1 mark for cach grammar or spelling mistake. The 1ota) deduction «
not excecd 3 marks i the answer still makes sense,

4- Overlook copying mistakes and capitalization.

5- 11 the studem writes only the correetion without rewriting the whole senten
answer rates 3 marks.

6- Any logical answer related o the text is accepled.

e E———— N .
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Group 2 From 813
Model answers (§-9)

8- ¢/ bitter solid without a simel|

9- b/ the blood vessels become greater in sive

Remarks from (%-9)

I- Each ttem s allotted 6 marks,

2- Either the letter or ihe complete answer is aceepted or both.

3« If the student writes two answers for the same jtem, consider the first.
4- Overlook copying mistakes,

Model answers (10-11)

10-  addictive

11~ stimulant

Remarks from (10-1 1)

I- Each item is allotted ¢ marks,

2- Only the above mentioned answers are accepted,

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same Hem, his answer rates zero ev
one of them is correct.

Model answers (12-13)

12- coffee, lea and cocoa,

" asmsmas

(N.B) If the student writes only one item, his answer rates full mark.
13- .......... can be made in the laboratory.

Remarks from (12-13)

1- Each item is allotted 6 marks.
2- The above mentioned answers are accepted in addition to any logical

completion related to the text.
3- Overlook copying, grammar and spelling mistakes,
4- Any addition or omission that doesn't make distortion is overlooked.
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; Group 3 From 14-24

5

Model answers (14-16)

14-  of
13- and/or/as well as / in addition to

16- have

(N-B: no.16) If the student writes " has " or " had " ydeduct 2 marks,

Remarks from (14-16)

I- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.

3- Spelling mistakes arc overlooked, unless they pive rise to new words.

If so, the answer rates zero.
4~ If the student writes two answers for the same question, consider the first.

Muadel answers (17-20)

17-  bright

[8- behind

19-  reason

20- everylhing

Remarks from (17-20)

[- Each ftem is allotted 6 marks.

2. Only the above mentioned answers are accepied.

3. Overlook copying mistakes and capitalization.

4- If the student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates Zero, cven if one of them 1s

correcl.
¢- Answers in the form of numbers rate zere.

= — _f_.-—.‘
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Model answers (21-24)

21-  What is law?
- What does lqw mean?
- ' FE 1 ; M
What is the definition { meaning of law
= What is 4 5o of rules ?

e R R T I N NN

22- Why are laws made?

- Why are there laws?
= What is the reasap of / behind making laws 7
- Why do we make / have laws ?
= What are laws important for 2
-~ What do laws organize ?
23- Who makes sure that pecple obey the law 7
= What do police and judges do / make sure of ?
24- (Answers vary)
Remarks from (21-24)
[~ Each ttem is allotted 8 marks.
2- Yes/ No questions rate zera.
3
4

Deduct 3 marks for wrong question word! word cluster

Deduct 2 marks {or any grammar mistake provided that the total deductio.

should not exceed 4 marks if the question still makes sense,

e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns

5- If the student writes two questions for the same answer, consider the first,

Overlook capitalization and spelling mistakes.

=
i

7- If the student writes the correct question word only, his answer rates 3 ms

8- Any logical question or answer related to the dislogue is accepted.
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Group 4 From 25-33
Madel answers {25-18)

25+ The (natural) environmem has been changad by elephants

(N.B) - The marks are distributed as follows:
2 marks for the object . The (natural) enviconmen
2 marks for verb to be — has been

2 marks for the past panticiple —, changed

2 marks for apent — by elephants
(N.B) - The student should mention at [zast the first three ¢lements,

If he doesn't write the apear, deduct 2 marks.
26- 1 wish travelling by plane weren't / wasn't expénsive,
- I wish 1t weren't / wasn't,
- I wish it were / was cheap(er).
- T wish it would / could be cheap(er}.
27-  He asked me what my favourite hobby was.
28~ My brother had the room painted.

(N.B) - If the student adds “himself™ at the end of the correct answer,

deduct 2 marks.
(N.B) - If the student’s scntence daesn't contain the four elements or docsa't make
sense, his answer rales 2erg.
Remarks from (25-28)

|- Each item i$ allotted 8 marks.

5. Overlook spelting mistakes.

3. Deduct 2 marks for each grammar mi
od 4 marks if the septence stll m

stake provided that the total deduction

Sense.
should not exce akes sen
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Model answers (29-10)
39, ... (answers vary) only simple past fense is accepred.
- ..,.... {answers vary) only simple present lense 1s aceepted.

Remarks from (29-30)

|- Fach item 15 allotted 7 nrarks.

2. The completion that docsn't ma ke sense rales zero, cven if it is grammatically
CoTect.

3- Deduct 2 marks for any gramm
not exceed 4 marks if the completion still makes sense.

lling mistakes unless they give rise to another meaning.

at the total deduction should not exceed

ar mistake, provided that the total dzduction shou

4- Qverlook spe
I so, deduct 1 mark provided th

3 marks if the compiction still makes sense.

5- Overlook punctuation marks.
6- Any logical completion is accepted.

7- The clause must contain a subject and a verb_ [1 not, the answer rafés zero.

Model answers (31-33)

il- hune

32. mathematical
33 punning out of

Remarks from (31-33}

1- Each item 18 allotted 6 marks.

2. Only the above mentioned answers are accopted,

3- Overlook copying mustakes.
4- Two answers for the same pumber rates Zero
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Group 5 From 34-38

Model answers (14-36)
34-  will get / is going to gel

35-  was playing
N.B If the student writes "were" mstead of "was", deduct 2 marks.

35. Have been living / have lived
~.B If the student writes vhas" instead of "have”, deduct 2 marks.

Remarks from (34-36)
1- Each item s allotted 6 marks.

2- Only the above mentioned answers anc accepted.

3. Overlook spelling mistakes unless they give nse to another meaning.

If so, deduct | mark,

e.g. (been —= bee)
enl writcs two answers for the same number, consider 1l

4- In case the stud
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Maodel answer (38)

38. Plants use different ways / to protect themselves (rom animals.

. use: make use of / utilize / utilise
- differemnt: several / many / varions
- ways: methods / means / strategies
- to protect: to save /10 keep
Remarks for {38}

I- The item is allotted 8 marks.

2. The sentenee 1s divided into 2 units. FEach unit is allotted 4 marks.

3. Each unit is treated separately.
4- Deduct 1 mark for:
- a missing or wrongly translated word

- a grammar mistake

I.lll_l.TilI_lI-ITI1IT'II'I_'I\.J.LI_I"LI..1'I|.Il_||:||_-'||1_||'.rill..'rlll“l_.

TEFTrrTrT

. a spelling mistake if it gives riseto a new meaning, provided that the total

deduction shouldn’l exceed 4 marks if the senience <till makes sensc.

5- Any other jogical translation is accepted.

S pae g 350 7 36
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— ..._.—-.-.-'l-'T

Scanned by CamScanner




Group 6 - Composition
Remarks:

- {30 marks}) are alloted to this jtem.

=-Before starting the correction of the composition, the

teacher should imake
first reswding to the whole paragraph to figure out il i

s relevant to the 1opic
ar nol.

3-If & student writes more than the required number of words, hisfher topic is
noeeped.

- 8- On average, a paragraph between 70-50 words tates (56 mavks).
b- A paragraph betwaen 60-69 words rates (45 marks).
Each feld is alletted 9 marks

rEFTTLR
r'|l|T-|1|-|1-4II-J"’"‘"”"'T”
T1 10017

€= A paragraph between 50-59 words rates (40 marks).
Each fizld is allotted 8 marks.

i
d- A paragraph between 40-49 words rates (35 ma rks).
Each ficld is allotted 7 marks,

t- a paragraph between 30-39 words rates (25 marks),
Each field is allotted 5 marks.

f- A paragraph between 20-29 words rates (20 niarks)
Each field is allotted 4 marks.
N.B. - Overlook the first two spelling misiakes and the first grammar
mistake; then deduct one mark for cach mistake.
- Overlook the first two wrong or missing punctuation marks or wrong
capitalization; then deduct one mark for each mistake.
- [T the student describes a visit to a place or a building withowt mentioning
any recommendations about where to build houses, his composition rates
Zero,
- The student should mention at least two recommendations in his topic

- If the student mentions only one recommendation in s topic, deduct
3 marks from each category.

5- The following chart shows the distribution of the (50 marks):

T —————

— — e
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